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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Mental Ability

Section Id : 503890231

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890275

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5038906339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

M4N, S7H, Y10B, ?
Options :

1. ¥ E13V

2. % R13C

3. ¥ FI13V

4. % TI3D

Question Number : 1 Question Id : 5038906339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

fqu TTu faswedl © ¥, 907 & qwd U &) 1 B

M4N, S7H, Y10B, ?
Options :

1. ¥ E13V

2. % R13C

3. % F13V

4. % T13D

Question Number : 2 Question Id : 5038906340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

H,D,LF,K,H,?,J
Options :

1. %V

2. % W

3.¥ N

4. %0

Question Number : 2 Question Id : 5038906340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu e fawedl & 4, 9ot & I 31&R BI 1d B |

H,D,LF,K,H,?]J
Options :

1. %V

2. % W

3.¥N


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. % 0

Question Number : 3 Question Id : 5038906341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the odd one from the given alternatives.
Options :

1. # JLNP

2. % BDFH

3. ¥ CEFG

4. % DFHJ

Question Number : 3 Question Id : 5038906341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fasw el T favy &1 |

Options :

1. ® JLNP

2. % BDFH

3. ¥ CEFG

4. ® DFHJ

Question Number : 4 Question Id : 5038906342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Density’ is related to 'High' in the same way as ' Pressure ' is related to '
Options :

1. # Volume

2. # Colour

3. ¥ Low

4. ® Gas
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Question Number : 4 Question Id : 5038906342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BT I Y IgI GaY g, o ‘g9 @ B’ 'l
Options :

1. ® Agd-

2. %

3. ¢ g

4. % 9

Question Number : 5 Question Id : 5038906343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter cluster from the given alternatives.

SUN:TSQ::?: THU
Options :
1. % JAY
2. ¥ SIR
3. # FEW
4. ® JEY

Question Number : 5 Question Id : 5038906343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefeRad u=A o, fau U fadhed! & O Hdiftid &R 9qg &1 994 H1 |

SUN:TSQ::?:THU
Options :
1. % JAY
2. ¥ SJR
3. % FEW
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4. % JEY

Question Number : 6 Question Id : 5038906344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, 'FROGE' is written as "THPGI'. How will 'PERKS' be written as in that language?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1. EPRSM
2. POXFT
3. RIXKB
4. TQAGS

Question Number : 6 Question Id : 5038906344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreft FAf8d e U &, 'FROGE' @Y 'THPGI' % &0 ¥ fordT ST g | 39 HINT H 'PERKS' B B forar Seem?
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. EPRSM

2. POXFT

3. RIXKB

4. TQAGS

Question Number : 7 Question Id : 5038906345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a row of children, Deepti is ninth from the left and Kashish is thirteenth from the right. They exchange their positions and then Deepti


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

becomes seventeenth from the left. Find the new position of Kashish from the right end of the row?
Options :

1. % 20th
2. % 21th
3. # 27th
4. % 28th

Question Number : 7 Question Id : 5038906345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=l b1 U UifeR ), dlt, ST & i RIM TR 3R BRI, <10 ¥ dRed VUM W & T8 30+ ®IF 969 dd 8 3R R i, §1¢ & wored ®i
TR B SIIci § | IR BT &M BR ¥ 91 R &1 gHTI

Options :

1. ® 20d(

2. ¢ 2141

3. % 274l

4. % 28di

Question Number : 8 Question Id : 5038906346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among five people — A, B, C, D and E, each scoring different marks, only one person scored less marks than B. D scored more than B but less
than A. A did not score the highest. Who scored the second highest?

Options :
1. % E
2. % C
3.¥ A
4. % D

Question Number : 8 Question Id : 5038906346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Ord @I- A, B, C, D 3R E H, T 3TT-3TT 3idh U I 6, had U MGH B I HH 3% U HRAT & D, B T D, R A I FHH
3{eh Tt el 8 | A e e 3 Ul el el § IgaRT Fay 31 e B I Bl 82

Options :
1. % E
2. % C
3.¥ A
4. %D

Question Number : 9 Question Id : 5038906347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
All states are cities.
No state is a town.

Options :

1. ¥ Some states are cities

2. ® Some cities are towns

3. # Some towns are not cities

4. % No cities is a town

Question Number : 9 Question Id : 5038906347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I RRu e uy & QYA & 91¢ fdwedi § IR ey fAT U 81 3! T U Sy &l 7 HHAT 8, Hdl & 3 Jagrd al 9 i udia
gia 8 | gt fFeepf o1 ufeu bR o I 6 o e fFeesf & T 19 1 JhEv1d U ¥ 3ERUI BT 8, I8 Jdaid ad 5o i |

DHY:

Tt U, TER B
IS AT, TR T8I B
Options :
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Question Number : 10 Question Id : 5038906348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
All Beetles are birds.
No birds are butterflies.

Conclusion:
I. All butterflies are Beetles.
II. Some Beetles are butterflies.

Options :

1. # If only conclusion I follows

2. # If only conclusion II follows

3. # If either conclusion I or II follows

4. ¥ If neither conclusion I nor II follows

Question Number : 10 Question Id : 5038906348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 fou 7T U # Y Y 3R I9F 91E < ey AT MU || Suen! 3T T Syl ) I U1 § M Bl 3 asd adl § e udid g
gl It e &1 ufeu iR au SifoTe fos fau T frens! & 9 SiF 1 a0 ¥ SII¥RUI $HRd1 &, I8 Jad 9 $3 i 8|

Tt geft 81
ﬁﬁﬁ&?ﬁﬁﬁ%l
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Ll R SR 3|

I. @ 3R, faaeh g1

Options :

1. % g dad s [ 3R HR1 8

2. % T Had (BT 11 SR Hal §

3. % gfe a1 dr e 13 11 SR okl §

4. e A A FHY 1 SR T 8 11 SR Bl §

Question Number : 11 Question Id : 5038906349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
D=A<C>B>D

Conclusions:
.LC>A
I.D<B

Options :

1. # Only II follows

2. ¥ Both follow

3. # Either I or II follows

4. ® Neither I nor II follows

Question Number : 11 Question Id : 5038906349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Uy H, Y # fAfis 3rqudl & o9 ey ol ST T 81 HUT & 915 &l sy fau 7w §1 R U 599 & 3nyR R st &
3T P MR Ifed IR ®! gL
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D=A<C>B>D

frpy-
.LC>A
II. D<B

Options :

1. % Had 11 SRV BT §

2. ¢ G SFIERUI R §

3. % I A 1T 11 3R Bl §

4. % FN 1SR TSI IR0 Bl §

GET IT ON

Google Play

Question Number : 12 Question Id : 5038906350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following interchange of signs would make the equation correct?

5+3x8-12+4=3
Options :

1. —and +

2. % +and x

3. % +and +

4. % +and —

Question Number : 12 Question Id : 5038906350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad & 3 fob fagl &1 ey & seam I IHiieur 98 81 Se?

5+43x8-12+4=3
Options :

1. 3R+
2. % 4 3R x
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Question Number : 13 Question Id : 5038906351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

133,119, 105, 91, ?
Options :

1. % 80

2.9 77

3. % 85

4. % 79

Question Number : 13 Question Id : 5038906351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et &t 7t 9oft o o de I1d B

133,119, 105, 91, ?
Options :

1. % 80

2.9 177

3. % 85

4. % 79

Question Number : 14 Question Id : 5038906352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates best relationship among.

"Vegetable, Carrot, Fig"
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Options :
O

1. ¢

2. # I

3. ® I

4. %

Question Number : 14 Question Id : 5038906352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I Ude g A 13U 7T axgeil/[aar! &1 gxifdl &, O a8 STR 3P 1 B ol 378 Yo JgcR Ta= G|

Options :
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Question Number : 15 Question Id : 5038906353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following figure, rectangle represents Gardener, Pentagon represents Boy and triangle represents Singer. Which set of letters represents

Singer who are Gardener and Boy both?
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f
Options :
1. % ¢
2. % d
3.¥Db
4. ® f

Question Number : 15 Question Id : 5038906353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad sefa #, Smad ATc & GITdT 8, TaYS a8®! B GRITdT & 3R FIYS T® & ST & | 31&R] BT HI- 91 THg TaH DI a=idl
& S ATl 3R ASH Gl 67
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Options :
L% e

2. % d
3.¥b
4, % f

Question Number : 16 Question Id : 5038906354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sameer walked 10 m towards West from his house. Then he walked 5 m turning to his left. After this, he walked 10 m turning to his left and in
the end he walked 10 m turning to his left. In what direction is he now from his starting point?

Options :
1. ® South
2. ¥ North
3. ® East
4. ® West

Question Number : 16 Question Id : 5038906354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR 30 TR 10 Hiex Ui St 3R a1 | fhr 98 913 3R GS&R 5 Hick Ial| SP d1G a8 aTs 3R JHR 10 Hex Ia 3R 3fd W a8
T3 3R GSHR 10 Hicx Idl| 3§ 98 3 IR foig T fpg famm o g2

Options :

1. % gfgon

2. ¥ I

3. % gg

4. % gigy

Question Number : 17 Question Id : 5038906355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.
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O
A
c 9

C
O

A 4

Options :

Question Number : 17 Question Id : 5038906355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fATATIRAT e o 311 31 dTell MThfd BT I B
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Options :
c

1.

L x A $

Question Number : 18 Question Id : 5038906356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?
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b ¥

Options :

1. ¥
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Question Number : 18 Question Id : 5038906356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DHIF-T IR 3BT, T 3P & Ufed &l I B
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1.¢
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Question Number : 19 Question Id : 5038906357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?
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Options :
1. %6
2.9 7
3.% 8
4. % 10
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Question Number : 19 Question Id : 5038906357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& 1S 3T | fbam By 8

Options :
1. % 6
2.9 7
3.% 8
4. % 10

Question Number : 20 Question Id : 5038906358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Find the mirror image of the given figure when the mirror is placed at AB.

Question figure:

A

B
Options :

o
¥

v

1. ¢

3. %

GET IT ON

Google Play

Question Number : 20 Question Id : 5038906358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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General Awareness

Group Number :
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Question Number : 21 Question Id : 5038906359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Hindu Mythology, who was the mother of Lord Krishna?

Options :

1. ¥ Devaki
2. % Radha
3. ® Rukmini
4. ® Kosala
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Question Number : 21 Question Id : 5088906359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feg ORIOTF STl & SFUR, YT HW &1 ATl B Ut
Options :

1. ¢ qda!

2. % YT

3. % St

4. % PG

Question Number : 22 Question Id : 5038906360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is known for the "Patachitra" paintings?
Options :

1. ® Bihar

2. % Assam

3. ¥ QOdisha

4. % Tamil Nadu

Question Number : 22 Question Id : 5038906360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 @ o= 91 Iy 'uefem (Patachitra)" IS INIMSIB SIS %?
Options :

1. ® fogR

2. % 3{H

3. ¥ IS

4, % g
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Question Number : 23 Question Id : 5088906361 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kalamezhuthu is a unique form of art found in which of the following states?
Options :

1. #® Telangana

2. ¥ Kerala

3. % Maharashtra

4. % Andhra Pradesh

Question Number : 23 Question Id : 5038906361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬂﬂsﬁ (Kalamezhuthu) fgfoad & 9 foog Ieg ¥ urs OF arell &l &1 U WW%‘?
Options :

1. % dTHT

2. ¢ I

3. % HERIY

4. % 3fig Y

Question Number : 24 Question Id : 5038906362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is commonly called as “Soft Loan Window ” of the World Bank?
Options :

1. # World Trade Organisation

2. # International Monetary Fund

3. # International Finance Corporation

4. ¥ International Development Association

Question Number : 24 Question Id : 5038906362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Frofefad o 3 fpd smdr w fay ¥ Bt ite - fdeS S o 82

Options :
1. % fa% HATUR 16

Question Number : 25 Question Id : 5038906363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Global Competitiveness Report is published by which of the following institutions?
Options :

1. ® International Monetary Fund

2. % World bank

3. % World Economic Forum

4. ® World Trade Organization

Question Number : 25 Question Id : 5038906363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dfyye ufaegyferedr Rulc RafaRad # 3 fod TR gRI1 UebIiRId &1 ST 82
Options :

1. % SJARRPTT g1 By

2. % fay dep

3. ¢ fay e w5

4. % 3% AUR G115

Question Number : 26 Question Id : 5038906364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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discrepancy 1s found in question/answer.-So;thrs

question 1s 1gnored for all candidates.

Options :
1. Solids
2. Liquids
3. Gas

4. Both solids and liquids

Question Number : 26 Question Id : 5038906364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SYU,_ GRITI™I ) 9y e 5
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. 319 uerd

2. e yard

3.7

4. 3 3R RA G

Question Number : 27 Question Id : 5038906365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of conversion of sugar into alcohol is known as

Options :

1. ¥ Fermentation
2. # Esterification
3. # Hydrogenation
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4. % Hydroxylation

Question Number : 27 Question Id : 5038906365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o § srewpigial & ufad & ufhar & RIS
Options :

1. ¥ BHCTHA

2. % TAIhHTH

3. % GIRSISHI®RUI

4. % QIESIRIARM

Question Number : 28 Question Id : 5038906366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the deepest mine in the world located?
Options :

1. # India

2. % Brazil

3. % South Africa

4. % Australia

Question Number : 28 Question Id : 5038906366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% o Herd TTex) WaT Hol (U § ?
Options :

1. % YRd

2. % T

3. ¥ GfRIUT 3Pl

4. % 3fiecfern
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Question Number : 29 Question Id : 5088906367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the outermost layer of the Earth known as?
Options :

1. ® Inner Core

2. % QOuter core

3. ¥ Crust

4. % Mantle

Question Number : 29 Question Id : 5038906367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G 1 G S18< IR DI HT HEd g2
Options :

1. % i DR

2. % I DR

3. ¢ .guc

4. % 3R

Question Number : 30 Question Id : 5038906368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The battle of Hydaspes was fought on the banks of which of the following rivers?
Options :

1. ® Indus

2. ® Chenab

3. # Ganga

4. ¥ Jhelum

Question Number : 30 Question Id : 5038906368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

m(Hydaspes)Wﬁ@ﬁE%@HﬁﬁWﬁ%ﬂfwwww?
Options :

1. % iy

2. % f19

3. % T

4.« JdH

Question Number : 31 Question Id : 5038906369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following periods is known as the 'Golden Age of Indian History'?
Options :

1. # Mauryan Period

2. ¥ Gupta Period

3. ® Vedic Period

4. ® Harsha Period

Question Number : 31 Question Id : 5038906369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § fry sraws & YR SfagRy &1 ¥a0! T &8l STl 82
Options :

1. % O Id

2. ¢ T DI

3. % ofds el

4. % gy DA

Question Number : 32 Question Id : 5038906370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Nalanda University was founded by whic

h of the following rulers?
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1. Ashoka

2. Chandragupta Maurya

3. Dharmpala
4. Samudragupta

Question Number : 32 Question Id : 5038906370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qrdie fayfaemed o o fAgfefed & 9 foog I A &t A

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. 3M=Mh

2. IS A
3. YT

4. e

Question Number : 33 Question Id : 5038906371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fundamental Duties were added to the Indian Constitution through which of the following Amendments?

Options :
1.¥ 42
2. % 44
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3. % 86
4_# 69

Question Number : 33 Question Id : 5038906371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed & ¥ fog d=ned & merd § YR faur § S sl & §isl [
Options :

1. ¥ 42

2. % 44

3. % 86

4. % 69

Question Number : 34 Question Id : 5038906372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Articles provides for the requirement of the President of India?
Options :

1. % 61

2. % 66

3.¥52

4. % 76

Question Number : 34 Question Id : 5038906372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 &9 91 3igwe HRd & UPUld 31 Fgfad &1 g™ $dl 82
Options :

1. ® 61

2. % 66

3.952

4. % 76
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75638906373 Question Type : MCQ Option Shuffling : Yes Is

Orientation : Verti.cal
Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals received the Gandhi Peace Prize 2019?
Options :

1. #® Sheikh Mujibur Rahman

2. % Qaboos Bin Said Al Said

3. # Yohie Sasakawa

4. ® Ekal Abhiyan Trust

Question Number : 35 Question Id : 5038906373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafRad o ¥ forg safad o il 2rifd REBR 2019 @
Options :

1. % G GollgR XgqH

2. ¢ FHYH fo USg o g

3. % Yigt YrAThId]

4. % Uohd SHfH g

Question Number : 36 Question Id : 5038906374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Directorate of Film Festivals is an organization set up by which of the following ministries?
Options :

1. # Minsitry of Communications

2. # Ministry of Culture

3. ¥ Minsitry of Information and Broadcasting

4. ® Ministry of Electronics & Information Technology
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Question Number : 36 Question Id : 5088906374 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fre TrRIg fAezmed Fufafed 3 § feg darag gR1 wifud fear man g2
Options :

1. % IR HAT

2. % TIDid HATH

3. ¢ I 3R TR A1

4. % FAFCIRT 3R a1 Menfies! darer

Question Number : 37 Question Id : 5038906375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uyyalawada Narasimha Reddy Airport has been inaugurated at which place?
Options :

1. ¢ Kurnool

2. % Amravati

3. # Vishakhapatnam

4. ® Vijaywada

Question Number : 37 Question Id : 5038906375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SATAATS] RRFET YS! §aTs 31 HT IguTe by R W oo 11 82
Options :

L ¥ B

2. % SERIId!

3. % fq=mETOw

4. % faSrgarsT

Question Number : 38 Question Id : 5038906376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which bank became the first one to introduce an instant EMI faci]ity on its internet banking p]atform called "EMI (@ Internet Rn‘nki‘ng"‘?

Options :

1. % SBI

2. % HDFC

3. ¥ ICICI

4. ® Axis Bank

Question Number : 38 Question Id : 5038906376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T §F 3T ST SfdhT W H "STHASNE @ ST SfhiT" TR dahldl STHSHTE AT = PR aTel Ugal ddb o+ 147 82

Options :

1. % YR T dF

2. % TESIUG L

3. 37S T 3118 3T
4. % ARG IH

Question Number : 39 Question Id : 5038906377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals has not hit 6 sixes in a single over in International Cricket?
Options :

1. ¥ Chris Gayle

2. ® Yuvraj Singh

3. % Herschelle Gibbs

4. ® Keiron Pollard

Question Number : 39 Question Id : 5038906377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fFofeied & § fg safd A SiarTga fbde & T 81 SliaR 1 6 B g1 A7 52

Options :

1. ¢ fha 7

2. % RIS ’ig
3. % gefd firsy
4. ® HRH OIS

Question Number : 40 Question Id : 5038906378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Indian fencer to qualify for the Tokyo Olympics 20217
Options :

1. # Kabita Devi

2. ¥ Bhavani Devi

3. % Gisho Kumaresan

4. ® Nidhi Pillai

Question Number : 40 Question Id : 5038906378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR U 2021 & FoTT HIAHTS HIA dIdd Ugdd YR HIR DI 62
Options :

1. % Hfgaraat

2. ¢ Uar ot

3. % fiN pAREH

4. % fAfY et

Arithmetic Ability

Group Number : 3
Group Id : 503890125
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Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 503890233
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890277
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5038906379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

1‘||I656 + 16-552 +~ 24 + 14 x 17="7

Options :
1. % 20
2. % 18
3.¥ 16
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4. % 22

Question Number : 41 Question Id : 5038906379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U ot O Uy g (2) & RIF TR T ST

1‘||I656 +~ 16- 5562 + 24 + 14 x 17 =7

Options :
1. % 20
2. % 18
3.9 16
4. % 22

Question Number : 42 Question Id : 5038906380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

(0.9)122 = 0.729% = (0.9)’

Options :
1. % 25
2. % 65
3.9 35
4. % 45

Question Number : 42 Question Id : 5038906380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fafaRad ue 7 Uy g (2) & I W §&1 J1 ST

(0.9)12 + 0.729%% = (0.9)’

Options :
1. % 25
2. % 65
3.9 35
4. % 45

Question Number : 43 Question Id : 5038906381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the greatest four-digit number which is exactly divisible by 64, 48 and 80?
Options :

1. % 9940

2. % 9840

3. % 9999

4. ¥ 9600

Question Number : 43 Question Id : 5038906381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 SH-3 999 981 IR-3i6 1T AT ', ST 64, 48 3R 80 T gufa: fauTfiora g2
Options :

1. % 9940

2. % 9840

3. % 9999

4. ¥ 9600

Question Number : 44 Question Id : 5038906382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

If LCM of (x, y, z) = x X y X z, then find the HCF of (y, z) ?
Options :

1.9 1

2. %2

3. % x

4. % yxz

Question Number : 44 Question Id : 5038906382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e (x, v, z) BT LCM (TLTH JHTIGA) = x x y x 2 §, Al (y, z) BT HCF (HETH THIYId®) F1d BT |
Options :

1.¥ 1

2. %2

3. % x

4. % yxgz

Question Number : 45 Question Id : 5038906383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions.
Options :

T4

| % 151

167
) # 426
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334
3_% 537

1011
1597

Question Number : 45 Question Id : 5038906383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad e & @ Tad ISt fHe J1d B
Options :

T4

| % 151

167
w 426

334
3 % 537

1011

4 1557

Question Number : 46 Question Id : 5038906384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 8 persons is increased by 1.5 years, when one of them whose age is 26 years is replaced by a new person. Then find the age of
the new person?

Options :
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1. % 42 years
2% 40 vears

3. ¥ 38 years
4. ® 36 years

Question Number : 46 Question Id : 5038906384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 fGIa) BI 3T 31 1.5 T 9 STl 7, 5 I8 U Teh o] 317 26 I 8, I U U Ao gRT Ufawitiid fasan Sran |1 ¢ sufdd ot

TG AT B2
Options :

1. % 429dY
2. % 40dY
3.+ 389y

4. % 36TY

Question Number : 47 Question Id : 5038906385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First and second numbers are less than a third number by 40 percent and 43 percent respectively. By what percent the second number is less than
the first number?

Options :

1. #® 7 percent
2. % 4 percent
3. # 3 percent
4. ¥ 5 percent

Question Number : 47 Question Id : 5038906385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TgT 3R TERT TReT, iR TR W HHRT: 40 WA 37K 43 YA HH &1 g TS, gl T b1 o1 | e Ufa=id o 82

Options :
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1. % 7yfaerd

—% 4 gidard

\ ]

3. % 3Yfaed
4.+ 5 gfaerd

Question Number : 48 Question Id : 5038906386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a test a student got 27 percent marks and failed by 12 marks. In the same test, another student got 38 percent marks and secure 32 marks more
than the essential minimum pass marks. Find the maximum marks for the test.

Options :
1. ¥ 400
2. % 500
3. % 600
4. % 300

Question Number : 48 Question Id : 5038906386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U1 B U BT A 27 Ua=id 3idh UT fbd 3iR 12 3! | Ut 81 7T | S URiteT &, Ueh 310 BT A 38 U= 3ic U fbu 3R
TP A U 3fehi o g1 U 32 3ich 31feeh UTd fbu | e & i b dy 3idh J1d Biforg|

Options :

1. ¥ 400

2. % 500

3. % 600

4. % 300

Question Number : 49 Question Id : 5038906387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sells two radios for the same price, one radio sold at a loss of 20 percent and the other radio at a profit of 25 percent. Find his net profit/
loss percent?
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Options :
1. % 2 .88 percent

2. ¥ 2.44 percent
3. % 3.12 percent
4. ® 3.56 percent

Question Number : 49 Question Id : 5038906387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad T g1 Jod WR &l AS1 99d &, T (ST B 20 TR o1 8T WR 3R gIR IS & 25 A= & A4 R 99d1 § | S9HT IS
ATH/ BT Ufa=Id J1d i |

Options :

1. % 2 88 Ufa=rd
2. ¥ 244 9faRrd
3. % 312 gfaerd
4. % 356 gfa=rd

Question Number : 50 Question Id : 5038906388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A river 3 m deep and 35 m wide is flowing at the rate of 5 km/h.The amount of water that runs into the sea per minute is:
Options :

1. ® 7850 m?

2. % 8550 m?

3. ¢ 8750 m?

4. ® 8350 m?

Question Number : 50 Question Id : 5038906388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3 m e 3R 35 m Ae! AT 5 km/h B 71T T I8! 8| Uf fre T o1 3R S aTdl ST &1 {1 1 82

Options :
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. ® 7850 m?

B oggn 3

OJJoVU 111

¥ 8750 m?
. % 8350 m?

-lkU)!‘,)»—t

Question Number : 51 Question Id : 5038906389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the ages of Sandeep and his son is 4 : 1 respectively. After 11 years, their ages will be in the ratio of 13 : 6 respectively. What was
Sandeep 's age when his son was born?

Options :

1. % 26 years
2. ¥ 21 years
3. % 28 years
4. % 23 years

Question Number : 51 Question Id : 5038906389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3R D TA BT 3T BT STATT HHA: 4 : 1 81 11 T & §1G, DT 3T HH: 13 : 6 B AT & 11T | TS IHP dIc DT o gl T,
dl Ity B Sy o ot

Options :

1. % 2679

2. ¥ 219N

3. % 289y

4. % 239N

Question Number : 52 Question Id : 5038906390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money becomes two times in 8 years at simple interest and it becomes four times in 2 years at compound interest. Find the ratio of rate
of simple interest to rate of compound interest.
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Options :

L% 1:

4
2.9 1:8
3.%3:5
4, % 2:7

Question Number : 52 Question Id : 5038906390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YRTIR WIERUT ST b1 &R T 8 T A g1 T 81 St & 3R I Iehqfey STl Bl &R U 2 T H IR T 81 911 8, &l JIURT TS &R 3R
TAhqf SIS & PT U F1d I

Options :

1.%1:4
2.¥1:8
3.%3:5
4. % 2.7

Question Number : 53 Question Id : 5038906391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat travels from A to B in 6 hrs with downstream speed and from B to A in 8 hrs with upstream speed. Find the speed of boat in still water if
the speed of the stream is 4 km/hr.

Options :

1. % 21 km/h
2. % 36 km/h
3. ¥ 28 km/h
4. % 24 km/h

Question Number : 53 Question Id : 5038906391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 19 YRT & 35 T H A I B I 6 6 T IHT Rl § 3R YRT &S UAGHa A A B I A T 8 9 T A1 il 8| AfS YRT 1 71fd 4
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fope/eer 8, o fRR o= & Ara 1 71fd Jrd BIfvTT|

Options :

1. % 21 fpHi/Eer
2. % 36 fhHl/Eer
3. ¢ 28 fHl/Eer
4. % 24 fpdider

Question Number : 54 Question Id : 5038906392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It takes eight hours for a 600 km journey, If 120 km is done by train and the rest by car. It takes 20 minutes more, If 200 km is done by train and
the rest by car. Find the ratio of the speed of the train to that of the car.

Options :
1.¥3:4
2.%2:3
3.% 5:4
4. % 4:5

Question Number : 54 Question Id : 5038906392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 120 forrt T SR Tt HR F 9 foam S, 1 600 fH &1 g S H 316 6 &1 THG a5 | af 200 foHt 27 gRT SR STt FR
GR1 T a1 ST 8, I 39 gl &1 ad HR H 20 e TS TIA § | ¢ &1 71 BT SR &1 71 I YT J1d Diford |

Options :
1.¥3:4
2.%2:3
3.%5:4
4. % 4:5

Question Number : 55 Question Id : 5038906393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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P, Q and R can finish a task together in 1§ days. P and R can complete the task together in 40 days. Injhow many days can Q complete the task
alone?

Options :

1. #® 18 days
2. ¥ 24 days
3. # 30 days
4. ® 60 days

Question Number : 55 Question Id : 5038906393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Qe?lngwfﬁ 15 fa & 1 R I & | 3 SR B P 3R R, 40 T3 F QT R Ahdl § 1 Q bl 3 B Bl fopaA i A R
Tl 87
Options :

1. % 1gfeT
2. ¢ 241
3. % 30feq
4. % o fea

Question Number : 56 Question Id : 5038906394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of an equilateral triangle. inscribed in a circle. is 124/3 sqem. Find the
area of the circle?

Options :

1. ¥ 16 n sq.cm
2. % 24 wsq.cm
3. # 32 wsq.cm
4. ® 40 msq.cm

Question Number : 56 Question Id : 5038906394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Uk o A Hiealed, THdTg 3757 7 athel 12v3 g9 A §. ol gec 7
AERTT RS IR,

Options :

1. ¢ 16 n 7 O
2. % 24 I QY
3. % 30 o i QY
4. % 40 7 1 A

Question Number : 57 Question Id : 5038906395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The respective ratio of curved surface area and total surface area of a cylinder is 4 : 5. If the curved surface area of the cylinder is 1232 cm?, what
is the height of the cylinder?

Options :

1. % 14cm
2. ¥ 28 cm
3. % 7cm
4. ® 56 cm

Question Number : 57 Question Id : 5038906395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ngmaw—qgmeﬁ?w—qg AFH BT AT HH: 4 : 5 5| IS AT BT d%-g8 BT AFH 1232 Y2 B, A 9o B SaTs
g2
Options :

1. % 1490
2. 28 AT
3. % 790
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4. % 5690

Question Number : 58 Question Id : 5038906396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows data regarding the number of children who were given Polio drops and total number of children in different villages.

Village Total children Number of children who were given Poilo drops
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

Find the difference between the total number of children to whom Polio drops were given in village A and B taken together and total number of
children in village E.

Options :
1. # 8
2. % 12
3.¥ 16
4. % 20

Question Number : 58 Question Id : 5038906396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 11 diferenT fafys Mial  a=l o) et SReAT qUT I Sl B /1 b IR H ST bl aifar § o aiferar g fem man g
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A 254 102
B 184 148
g 156 124
D 272 240
E 324 216

Td A 3R B & 3 =i & Hot G forg ulferdl ST faan a1 § SR 711d E & 9ad! &1 $d W1 & aid &1 3R J1d B | |

Options :
1. %8
2. % 12
3.¥ 16
4. % 20

Question Number : 59 Question Id : 5038906397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows data regarding the number of children who were given Polio drops and total number of children in different villages.

Village Total children Number of children who were given Poilo drops
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

The number of children who were given Polio drop in village E is what percentage of number of children who were not given Polio drops in

village E?
Options :

1. # 50 percent
2. # 100 percent
3. % 200 percent
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4. % 150 percent

Question Number : 59 Question Id : 5038906397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S aifereet fafts Mial B Tt &1 ot WReAT qUT I Sl B GBI P IR H ST Bl guifar 8 e aifera g femm man

LI FA T T=ai $ FEar B Ot 3o e o2
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

g B TiferaY 19 fau o1 aTal st bt TRe, Tiia E H ifera) S1u et AU SR aTet st b TR b fahaT wfa=id 82
Options :

1. % 50 gfa=rd

2. % 100 Uf=rd

3. ¢ 200 Ufa=Id

4. % 150 gfaerd

Question Number : 60 Question Id : 5038906398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given line chart shows the expenditure and savings (in Rs.) of Rajan in different months.

Note: Income = Expenditure + Savings
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Find the ratio of expenditure of Rajan in March to the savings of Rajan in May.
Options :
1.¥6:5
2. % 5:4
3.% 4:3
4. % 3:2

Question Number : 60 Question Id : 5038906398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o e o fafte wEtA 8§ X1oi9 & o0 SR o9id (JUT H) P g |

AT T =T + §9d
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Options :
1.¥6:5
2.% 5:4
3.%4:3
4.%3:2
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Group Maximum Duration : 0
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Is this Group for Examiner? : No
General English

Section Id : 503890234

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890278

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5038906399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. ® When asked whether Tony had baptised, the young man answered in the affirmative.

2. % Archbishop replied baptism was enough to earned Ndilinge a Catholic burial.

3. % Unknown to many Africans, Christianity has its roots in both Palestine and North Africa.
4. ¥ He vehemently oppose the ethnically instigating clashes of 1992 in rift valley.

Question Number : 61 Question Id : 5038906399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
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1. ® When asked whether Tony had baptjsed, the young man answered in the affirmative.

2_# Archbishop replied baptism was endugh to earned Ndilinge a Catholic burial.
3. % Unknown to many Africans, Christianity has its roots in both Palestine and North Africa.
4. ® He vehemently oppose the ethnically instigating clashes of 1992 in rift valley.

Question Number : 62 Question Id : 5038906400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

He cannot be trusted with important secret informations otherwise I would have made him my assistant. If there is no grammatical error(s), then
select No error as option.

Options :

1. # He cannot be trusted

2. ¥ with important secret informations

3. # otherwise I would have made him my assistant
4. % No error

Question Number : 62 Question Id : 5038906400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

He cannot be trusted with important secret informations otherwise I would have made him my assistant. If there is no grammatical error(s), then
select No error as option.

Options :

1. # He cannot be trusted

2. ¥ with important secret informations

3. % otherwise I would have made him my assistant
4. ® No error

Question Number : 63 Question Id : 5038906401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to subgtitute the underlined segment in the given sentence. If there |s no need to substitute it, select No

substitution required.

The animal, which is a relative of jellyfish and corals, gave up breathing and consuming oxygen — or become anaerobic — to produce energy.
Options :

1. ¥ became

2. ® becomes

3. % has become

4. % No substitution required

Question Number : 63 Question Id : 5038906401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The animal, which is a relative of jellyfish and corals, gave up breathing and consuming oxygen — or become anaerobic — to produce energy.
Options :
1. ¥ became

2. # becomes

3. # has become

4. % No substitution required

Question Number : 64 Question Id : 5038906402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

IOC has spent over Rs. 17,000 crore to upgrade its refineries to produce the low-sulphur diesel and petrol.
Options :

1. % it’s

2. % their
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3. % it
4% No substitution rPr}nirPd

Question Number : 64 Question Id : 5038906402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

IOC has spent over Rs. 17,000 crore to upgrade its refineries to produce the low-sulphur diesel and petrol.
Options :

1. % it’s

2. % their

3. % it

4. ¥ No substitution required

Question Number : 65 Question Id : 5038906403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Many lands were confiscated many royalists were rewarded for their loyalty to the crown.
Options :

1. #® but

2. ¥ and

3. ® Yet

4. % Or

Question Number : 65 Question Id : 5038906403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
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Many lands were confiscated | many royalists were rewarded for their loyalty to the crown.

Options :

1. % but
2. % and
3. % Yet
4. % Or

Question Number : 66 Question Id : 5038906404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In a huge turn of events, the Booker Prizes on September 30, 2020 revealed that they have the date for the winner announcement to
November 19.

Options :

1. #® suspended
2. % superseded
3. ¥ postponed
4. ® adjourned

Question Number : 66 Question Id : 5038906404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In a huge turn of events, the Booker Prizes on September 30, 2020 revealed that they have the date for the winner announcement to
November 19.

Options :

1. % suspended
2. % superseded
3. ¥ postponed
4. # adjourned
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Question Number : 67 Question Id : 5088906405 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. The conclusions from this accumulative inductive process have amassed for society a huge bank of scientifically validated information.
Q. Such evidence goes to prove a thing is so or not so.
R. One of the first requisites of science is evidence.

Options :
1. ¥ QPR
2. % QRP
3. # RPQ
4. ¥ RQP

Question Number : 67 Question Id : 5038906405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. The conclusions from this accumulative inductive process have amassed for society a huge bank of scientifically validated information.
Q. Such evidence goes to prove a thing is so or not so.
R. One of the first requisites of science is evidence.

Options :
1. % QPR
2. % QRP
3. # RPQ
4. ¥ RQP

Question Number : 68 Question Id : 5038906406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. Savita was lonely in the house.
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P: She was very good at that.
Q: She sat all day in a little room off the thain drawing room.

R: She would sit on the rug and do needle work.
S: It was a little room with nothing in it but a few chairs and a rug.
6. It was the only thing she had learnt from the Convent School.

Options :

1. ¥ PQRS
2. ¥ QSRP
3. % RSPQ
4. % SRPQ

Question Number : 68 Question Id : 5038906406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. Savita was lonely in the house.

P: She was very good at that.

Q: She sat all day in a little room off the main drawing room.

R: She would sit on the rug and do needle work.

S: It was a little room with nothing in it but a few chairs and a rug.
6. It was the only thing she had learnt from the Convent School.

Options :

1. ¥ PQRS
2. ¥ QSRP
3. % RSPQ
4. % SRPQ

Question Number : 69 Question Id : 5038906407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

PRECARIOUS
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Options :

1. #® Cautious

2. ¥ Perilous
3. # Brittle
4. ® Sharp

Question Number : 69 Question Id : 5038906407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

PRECARIOUS
Options :

1. #® Cautious
2. ¥ Perilous

3. # Brittle

4. ® Sharp

Question Number : 70 Question Id : 5038906408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

LEVITY
Options :

1. ¥ Amusement
2. # Religiosity
3. ¥ Gravity

4. ® Laxity

Question Number : 70 Question Id : 5038906408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the most appropriate antonym of tHe given word.

LEVITY
Options :

1. ¥ Amusement
2. ® Religiosity
3. ¥ Gravity

4. ® Laxity

Question Number : 71 Question Id : 5038906409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ® Leiutenant

2. ® Liuetenant

3. ¥ Lieutenant

4. % Lieutanent

Question Number : 71 Question Id : 5038906409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Leiutenant

2. % Liuetenant

3. ¥ Lieutenant

4. ¥ Lieutanent

Question Number : 72 Question Id : 5038906410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the wrongly spelt word.
Options :

1. ¥ Resistence

2. % Characteristic
3. # Beneficial

4. % Independent

Question Number : 72 Question Id : 5038906410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Resistence

2. # Characteristic

3. # Beneficial

4. ® Independent

Question Number : 73 Question Id : 5038906411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Give a wide berth

Options :

1. ¥ To avoid or stay away from somebody

2. # Avoid sharing your true viewpoint or feelings
3. # A good thing that initially seemed bad

4. # Getting a good start is important

Question Number : 73 Question Id : 5038906411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the most appropriate meaning of the given idiom/ phrase.

Grveawrde berth
Options :

1. ¥ To avoid or stay away from somebody

2. # Avoid sharing your true viewpoint or feelings
3. # A good thing that initially seemed bad

4. ® Getting a good start is important

Question Number : 74 Question Id : 5038906412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Turn a deaf ear
Options :

1. % Stupor

2. % Melange
3. ¥ Disobey
4. ¥ Emblezon

Question Number : 74 Question Id : 5038906412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Turn a deaf ear
Options :

1. % Stupor

2. # Melange
3. ¥ Disobey
4. ¥ Emblezon


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 75 Question Id : 5088906413 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who is unduly anxious about their health.
Options :

1. ¥ Valetudinarian

2. ® Vegetarian

3. # Venial

4. ® Vandal

Question Number : 75 Question Id : 5038906413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who is unduly anxious about their health.
Options :

1. ¥ Valetudinarian

2. % Vegetarian

3. # Venial

4. % Vandal

Sub-Section Number : 2
Sub-Section Id : 503890279
Question Shuffling Allowed : Yes

Question Id : 5038906414 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Duke Solinus, ruler of Ephesus, presides over the trial of Egeon of Syracuse. Syracusians are not allowed in Ephesus, so Egeon has been
detained. When asked why he is now in Ephesus, Egeon explains how he is searching for his lost twin sons and their twin servants.
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Twenty three years before, Egeon had losf his wife and one of their identical twin sons (along with thg boy's slave) in a storm at sea. Egeon had

brought up the surviving boy and his slave. At eighteen, they had gone in search of their lost brothers. After no word from them, Egeon had also
left home to seek news in Ephesus. Solinus is softened by the story and allows Egeon until sunset to try to raise 1,000 marks as a ransom or else
he must die.

Meanwhile, in a nearby marketplace, a merchant has befriended two tourists: Antipholus of Syracuse (Egeon's son) and his servant companion,
Dromio. Learning of the ban on Syracusians, they put on local dress before going to explore the town. Unknown to them, their twin brothers
(with identical names) have been living there after being saved from the storm by fishermen.

Antipholus of Syracuse is very surprised to be accosted by Dromio of Ephesus. Dromio is angry that his master has not returned home to his
wife, Adriana, for dinner. The likeness of the Dromio twins, and also the sons of Egeon, leads to a series of confusions. This is especially true
when Antipholus of Syracuse dines with his sister-in-law and falls in love with her sister, Luciana. His servant, Dromio of Syracuse, refuses to
open the door to anyone. He bars the door even when Antipholus of Ephesus returns home with his merchant friends. This exclusion enrages
Antipholus of Ephesus and leads him to dine with his friend, the courtesan.

Sub questions

Question Number : 76 Question Id : 5038906415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who allows Egeon to try to raise 1,000 marks as a ransom until sunset or else he must die?
Options :

1. ¥ Duke Solinus

2. % Egeon

3. # Antipholus

4. ® Dromio

Question Number : 77 Question Id : 5038906416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why has Eogen been detained in Ephesus?

Options :

1. ¥ because he is syracusian and syracusians are not allowed in Ephesus

2. % because he has rebelled against the ruler Duke Solinus of Ephesus empire
3. # because he has been caught stealing lot of wealth in Ephesus

4. ® because he has killed his two sons and their twin slaves in Syracuse
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Question Number : 78 Question Id : 5088906417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is Dromio angry with his master Antipholus of Syracuse?

Options :

1. ¥ because Antiphalous has not returned home to his wife, Adriana, for dinner
2. # because Antiphalous scolded him a lot when he left the home

3. # because he is warned of Charles, the court wrestler’s plot against him

4. % because he is warned of Duke Senior’s plot against him to capture him

Question Number : 79 Question Id : 5038906418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Refused”?
Options :

1. # denied

2. % rejected

3. % declined

4. ¥ consented

Question Number : 80 Question Id : 5038906419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. # Egeon explains how he is searching for his lost twin sons and their twin servants.
2. % Antipholus of Syracuse is very surprised to be accosted by Dromio of Ephesus.

3. ¥ After no word from them, Antipholus had also left home to seek news in Ephesus.

4. % Antipholus of Syracuse dines with his sister-in-law and falls in love with her sister, Luciana.

Question Id : 5038906414 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
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Question Numbers : (76 to 80)
Read the Fn]]n\m'ng passage and answer the questions below.

Duke Solinus, ruler of Ephesus, presides over the trial of Egeon of Syracuse. Syracusians are not allowed in Ephesus, so Egeon has been
detained. When asked why he is now in Ephesus, Egeon explains how he is searching for his lost twin sons and their twin servants.

Twenty three years before, Egeon had lost his wife and one of their identical twin sons (along with the boy's slave) in a storm at sea. Egeon had

brought up the surviving boy and his slave. At eighteen, they had gone in search of their lost brothers. After no word from them, Egeon had also
left home to seek news in Ephesus. Solinus is softened by the story and allows Egeon until sunset to try to raise 1,000 marks as a ransom or else
he must die.

Meanwhile, in a nearby marketplace, a merchant has befriended two tourists: Antipholus of Syracuse (Egeon's son) and his servant companion,
Dromio. Learning of the ban on Syracusians, they put on local dress before going to explore the town. Unknown to them, their twin brothers
(with identical names) have been living there after being saved from the storm by fishermen.

Antipholus of Syracuse is very surprised to be accosted by Dromio of Ephesus. Dromio is angry that his master has not returned home to his
wife, Adriana, for dinner. The likeness of the Dromio twins, and also the sons of Egeon, leads to a series of confusions. This is especially true
when Antipholus of Syracuse dines with his sister-in-law and falls in love with her sister, Luciana. His servant, Dromio of Syracuse, refuses to
open the door to anyone. He bars the door even when Antipholus of Ephesus returns home with his merchant friends. This exclusion enrages
Antipholus of Ephesus and leads him to dine with his friend, the courtesan.

Sub questions

Question Number : 76 Question Id : 5038906415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who allows Egeon to try to raise 1,000 marks as a ransom until sunset or else he must die?
Options :

1. ¥ Duke Solinus

2. % Egeon

3. # Antipholus

4. ® Dromio

Question Number : 77 Question Id : 5038906416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why has Eogen been detained in Ephesus?
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Options :

1. ¥ because he is syracusian and syracubians are not allowed in Ephesus

2. # because he has rebelled against the ruler Duke Solinus of Ephesus empire
3. # because he has been caught stealing lot of wealth in Ephesus

4. ® because he has killed his two sons and their twin slaves in Syracuse

Question Number : 78 Question Id : 5038906417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is Dromio angry with his master Antipholus of Syracuse?

Options :

1. ¥ because Antiphalous has not returned home to his wife, Adriana, for dinner
2. ® because Antiphalous scolded him a lot when he left the home

3. #® because he is warned of Charles, the court wrestler’s plot against him

4. ® because he is warned of Duke Senior’s plot against him to capture him

Question Number : 79 Question Id : 5038906418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Refused”?
Options :

1. ® denied

2. % rejected

3. % declined

4. ¥ consented

Question Number : 80 Question Id : 5038906419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. # Egeon explains how he is searching for his lost twin sons and their twin servants.
2. ® Antipholus of Syracuse is very surprised to be accosted by Dromio of Ephesus.
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3. ¥ After no word from them, Antiphol{s had also left home to seek news in Ephesus.

1s sister-in-law and falls in love with her sister, Luciana.
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Question Number : 81 Question Id : 5038906420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Al 7 § S19-91 oy THY BT IS8R0 82

Options :

1. % fAquft
2. % foREIAFR
3. ¢ 3dqd
4. % Al

Question Number : 81 Question Id : 5038906420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR & & HH-91 HitTg THN BT 3ETeR0 82
Options :

1. % Pquft

2. % fREIAMR

3. ¢ 3Ydqd

4. % garaH

Question Number : 82 Question Id : 5038906421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed ¥ ¥ dH eg &1 994 BIfoTe-
Options :

1. % g

2. ¥ UH

3. % foroHH

4. % 3H

Question Number : 82 Question Id : 5038906421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferiad H ¥ ToH Xeg &1 T HIfoT-
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Options :
1% 1|

2. UM
3. % fooEE
4. % 3ITH

Question Number : 83 Question Id : 5038906422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & @ S19-91 g ST BT WA B 11 T 72
Options :

1. ¥ H¥gR

2. % Mg

3. ¢ YT

4. % D

Question Number : 83 Question Id : 5038906422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfaRad 7 § S1F-91 Isg IuTf o1 T SR §911 T 82
Options :

1. ¥ IR gR

2. % gD

3. ¢ JIIUdh

4. % THBH

Question Number : 84 Question Id : 5038906423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafRd o @ $1H9-971 T2 HIddraS I3 BT 33180 T8l 22

Options :
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Question Number : 84 Question Id : 5038906423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRad 7 @ ©19-97 Weg HigarID I BT IST6R01 T8] 82
Options :

1. % erfifend

2. % QRIfOTHAr

3. % gfqurgd

4. Y UIH

Question Number : 85 Question Id : 5038906424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frEfeied o 9 Wreg-gm & "al 31f-9G &1 99 Bifolu-

TG - UG
Options :

I % uS - Hed
2. % {Idld - W)
3. ¥ PUI-HEA
4. % Qb - A

Question Number : 85 Question Id : 5038906424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o ¥ Xe5-g7 & Tal 31-1G &1 99 BifoTe-
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Udlq - UdTq

Options :

I % uS - Hed
2. % {Idld - @R
3. ¥ PUI-HEA
4. % Qb - A

Question Number : 86 Question Id : 5038906425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 9+t aTd Xeg BT 99 HIfoTE-
Options :

1. % OIS

2. % SHIUAIRSD

3. % gadifgd

4.« IION

Question Number : 86 Question Id : 5038906425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=feRad & O Y acil aTel 6 &1 g9 SITore-
Options :

1. % TaqIHS

2. % HEIYARG

3. % gddifed

4. IR0

Question Number : 87 Question Id : 5038906426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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frfafad & § s o1 oy T HH-a18?

Options :

|. % picd
2. % RygpeT
3. ¢ TEIRd
4. % IIIH

Question Number : 87 Question Id : 5038906426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafaa # @ g far &1 fadm Ssg HH-91 82
Options :

|. % picd

2. % fIgpst

3. ¢ UG

4, % 3y

Question Number : 88 Question Id : 5038906427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U STt & foru e & O U Wsg 1 TG BITL-
fhalt & g I gl Bl YW &I HRAI-

Options :

1. % SEIYid
2. ¢ 3HhHI
3. % 3{Tehid
4. % Y

Question Number : 88 Question Id : 5038906427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
e U arei=r & foru g o 1 U Wsd 1 T pifoTe-

fobrafl o G- A Gl BIHR IUWR &1 HAl-
Options :

1. % 3TRIUid

2. ¢ 3JHHI

3. % 3{Thid

4. % UG
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Question Number : 89 Question Id : 5038906428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeafad 7 9 foar mar 9 foa o1d &1 e g?

YMICG, 98 ' SGR ST |
Options :

1. ¢ YT Hiasd

2. % A Ydbld

3. % gdogHG HddTd

4. % gdogHc Hid=IHTd

Question Number : 89 Question Id : 5038906428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafaRad & 3 fear mar 9 fohd o1 &1 Ieeur g2

YMIE 98 Hd ISR ST |
Options :

1. ¢ YT Yiasad

2. % 3IEF Yddld

3. % gdogHe YdbTd
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4. % gdeqHe Hid=®d

Question Number : 90 Question Id : 5038906429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefeRad 4 9 fafear &1 sgae= | grm
Options :

1. % §¢t

2. % dfedl

3. ¢ fafear

4. % T

Question Number : 90 Question Id : 5038906429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffofad & 9 fafear &1 sgae @ grm
Options :

1. % 9

2. % qfedl

3. ¢ fafear

4. % SicHr

Question Number : 91 Question Id : 5038906430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAeferiad 7 @ o9-a1 arey fyarey 781 82
Options :

1. % 3fTfe o Hgdl o [ AR TR 3713l

2. % 3 Fad f& 3D Jre 1 82

3. % 98 BIg g7 3McH! & o a8 o fpar 81
4. ¢ IO GUS &b YT Y Y dledl IET|
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Question Number : 91 Question Id : S0B8906430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fefeRad 7 @ o9-a1 ared fyarey 781 82
Options :

1. % Jfe Y2 el § [ TR R 3M1ef|

2. % 319 FdT4 P TPt THWT &1 82

3. % g8 BIg §RT 3MeH § oram a8 &1 frar B
4.« TAR GUS & YT Y S Seidl e

Question Number : 92 Question Id : 5038906431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i e T a1 i B @ {59 BRe &1 I 22
g gs! 9 O 30§ W

Options :

1. ¢ YH HRB
2. % 3UIGH HRP
3. ® YUY HRD

4. % Y HRD

Question Number : 92 Question Id : 5038906431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= fear T e e o 9 ford R BT 3aTeR 67

g Ue! A O 0§ @WI|
Options :

1. ¢ YD HRD

2. % 3(UIGIH PRSP
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3. % UM dRD

4% e[ hd

Question Number : 93 Question Id : 5038906432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfefad & ¥ fog qgTar &1 o "optel | foR o 32
Options :

1. % 3O BT |

2. % 3{ddd R UR US|

3. ® JAIHIR-UTdT Uh HRAT|

4.« 3YTg UR H ga|

Question Number : 93 Question Id : 5038906432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad o @ fra qerar &1 o "eprel I fR o 22
Options :

1. % 3O BT |

2. % 3 R UR US|

3. % S{THIRI-UTATT TUdh hRHT|

4. ¢ YT IFR H a1

Question Number : 94 Question Id : 5038906433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ° T delfad "ddaR &1 91d HR ST 8, §Td T 8t HRdT" &7 o1 3 g9
Options :

1. % %¢ a9 I1G -Toi e g |

2. % TGI8 dal & MIHHER|

3. ¢ H¢ 999 SRI&R TG X8d g



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. % P! 1 Hd d¢1 AR T¢I BT R

Question Number : 94 Question Id : 5038906433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed & @ Aeifad "ddaR &1 91d HR ST 8, §Td BT ol HRaT" &1 31 34 g2
Options :

1. % H¢ I9 I1E 51 @ ¢ |

2. ¥ S[gIvE dal & MIHER|

3. ¢ H¢ g9 SRR I1G X8d g

4. % P! BT HA 941 3R T BT

Question Number : 95 Question Id : 5038906434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bt TRIferd 98 Weg & DI U HIUUH 3H&R) S & forg fore o1 UanT fohan ST g |

Options :

1. ¢ dr9d fag

2. % 3[UidvH g

3. % g g

4. % faurariediys fog

Question Number : 95 Question Id : 5038906434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e} TIfeTd 918 Weg & BIe U BIUYH 3f&R) TR & forw forg &1 TN AT ST B
Options :

1. ¥ o4 fag

2. % 3fcUfdRM g

3. % JGfRM g

4. % foumnfeaiys o
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Question Id : 5038906435 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

: No
Question Numbers : (96 to 100)

fEfRTREd TeIi= 1 AFYde T B UHI b Ik ST

IR 1o @1 aRUTST SiR & TUT S Weifie! ¥ fdT & fawg & Tt 9 g1 S1awas ¢ | $2 Wfaaee Wfaqal |, fore o

qa-STfa & Ufas &1 9relt 7, 3 fage 8t Rt te Tgayu

31999 fRyfq 1. fom1 forelt smufty & adh gRT WieR fobdn S arer fawy

21 T8l ao & afe o UIg § =afdd, o fag & faRid B, & 91y arafa foar S, & 87 39 99 &1 Ui f% 3 araa | fagme &1 fakly
TSI B &, WReg Mefies! o1 foraest Yawer U &t fafi=T sfagerarail & qR1 631 & o fagm & sl & sruami I ]

3171 fag @ gART 31 gAR fawd 3R 39 URaw & a1 I ¥, 39 9t &= & 39 31 &t Faf3d oiR Fofia @ 4 8, Rg3g I &1
O SR T8} fob IrdeifAies vaisr! o fore foram smu | deifiiest § g9 39 A fafrdl &1 Ieeia ovd § S fag= &) 799 Yar &
foTT Uged o ST 9oh | ATa ST &1 UMW & [T ¥ @il Bl a1 a1 URaTcid B BT b ST | GIHI H W 3R FdM o forg
(GfFTR) 3nfige fag iR Mt & adar waifis deita asf & ¥ Iarexvl i3 o Johd 3| U fag § ford 4Rl anfde a@

R & AE T e a1 faafted gu 32 o Ul 3R Team &1 7o 8idT 81 I8 Uenfe! 8 fored 9 a91fies I &1 g faoreft
I & T TRHTY] UTaRER & 0T a1 I S H b1 STl § | I8 Wit gt g St Afdds T 3 it 8 SR Afdesar aut siAfaesdr &
3iford wcll g | fa dewy a1 eHfae § iR &t o Afdes MR a1 ArdIg Setrul &1 foRiy T8 SR Tavdl, Iafl Us aqi-d 3R

JH-RA T HIFG B & Ald 39PT Ry PR Jhd g |

Sub questions

Question Number : 96 Question Id : 5038906436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=fafad & & Sudad TR &1 Sfud e SF-a1 82
Options :

1. ¢ o3 ud Uit &1 gl

2. % YRR B Hgd |

3. % a3 U U=

4. % Yifdes T GITH BT TP R |
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Question Number : 97 Question Id : 5088906437 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad TR H TREH & AR, |

Options :

1. % o € i s eftoran & S @ Sy & wfas &t Fufia 78 st 3

2. % TN € Rth ueb &fiurdn & S Ara Sifa & Ydobret & Ruffa T8 Bt 31
3. % O 8 A 1 UIfa & Id § 311 areht anemefi § J U g |

4. v fogm & R v e © S e Sl & wifass & Meffed dreft 31

Question Number : 98 Question Id : 5038906438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffaRad o O $1F-91 Teg “3us” &1 yafaar T8 87
Options :

1. ¢ Ylfcdep

2. % 3gyd

3. % 3l

4, % JUARRd

Question Number : 99 Question Id : 5038906439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN & TR PIH-91 HU el el 82

Options :

1. % fog de=y a1 i g

2. % Tg TeNfies! &) § ot Afdes 37 d At 8 3R e qut siafaear & sifrd axdl g

5. R g g A o) R o) e v T et @) T e 2 g 3 R e b o

4. % 3o fagm 9 gART 3 g1 fang 3k 39 uRaAw & 7 I F, 39 It &3 7 59 31 &1 Fifid ik Fafa @ 3 31

Question Number : 100 Question Id : 5038906440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
frefoiad o 9 Iufad e

e

7

Options :

1. ¢ URAHTHD

2. % JATHD
3, % gUHTH®

4. * U Td Gl

gl

GET IT ON
Google Play

Question Id : 5038906435 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

: No

Question Numbers : (96 to 100)

ffefad T &1 earyde srerad e Ul & Ik SIfTE-

IR <reg @1 afRuTST SiR & 9UT SH®! Tefie! ¥ firTdT & fawg & Tte 19 g1 3o ¢ | $2 Wfadee wfaqal |, fore o
HH-SIfd & TS ST 916t 3, Arae 37 81 Rt T Aeayul srIu Rufd & fom faeht smufay & wads gR1 WiieR foan o aren fawa
2| ugl a & afe oo U1 Q cufda, S fagm & faRieh B, & 9y arafery far s, & 89 59 awg &) Ui i 3 araa o fage &1 fary

eI B T, TR Me1ep! 1 FoTehT T A

&1 fAfi=T Sa=adHdTs] I URT H3- & (o faxH & Fh sl o SIIoanT 4 g

3T FaT B gHRT 31 gAR fava SR 3q% URa & gof I &, 39 T+t & & 59 719 & Fifa ik Fafiyd Wier 9 8, IR 59 99 &1
TIRT SR ATa| o FTdel+es TSI o ford faram Sme | Tt § 86 34 AR fafrdl o1 Seeid #3d & o fag= &1 Ard da1 &
fore Trga e o Uah | AT Ie=al &1 UTfad & o axgsii &1 &9 a1 uRafdd B &1 Gbf<d eqg-| gl § e 3R 9d™ & forg
([fFTR) 3Nfoge a7 iR Wit & adar walfis deita aaf o 3 Iarexvl 32 o1 9hd & | U8 o § o 4Rt anfas aa

T & 1D F e a1 [aefUsd gu 3i=ll &1 Upfd

3R G¥HT BT HIUE BIdT & | T8 Wit & forad 59 dgnfaes 314 &1 uanT fasiat

§I b foTT URHATY] UTaRER &1 T ORAT I1 3 §1 | 61 STl 8 | I8 Welfiah! g1 § Sl Afdd 11 & ol § 3R Afdesdn auT smfadmdr &
3iford wxcll g | fa dewy a1 3Hfae § iR &t o Al SR a1 Ardia Seurur &1 faRiy T8 &R T, Iafl Ue axi-d 3R

JH-NRA Teb HId 811 & ATd 39T faR1Y R Fobd g

Sub questions

Question Number : 96 Question Id : 5038906436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRad o O Iudad T 1 3fad Jiud DF-91 52

Options :

1. ¢ fagm vd Mafie &1 ded|
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2. ¥ Y[R ] Hgd |

L 3 s fyeumafiomy |

4. % WWWWW|

Question Number : 97 Question Id : 5038906437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG TR H o b SR, |

Options :

1. % fagm1 €t Ryt ues efturar g S 1a wifd & Hias &t Fuffed 78t =t ]

2. % RN g1 Rt Uep &furar § ST J1a STifd & YddbTd ol HufiRd Tg] Bl g |
3. % O 8 A7 1 UIfa & IR § 3114 areht anemaefi § J U g

4. ¢ a9 €1 b wep 2 & o A Sifa & wifasy &) affed el 81

Question Number : 98 Question Id : 5038906438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrfIRed & @ SH-91 Teg “3r g9 &1 gaiars Tal 62
Options :

1. ¢ Yifdeh

2. % YA

3. % 3

4. % JUARRd

Question Number : 99 Question Id : 5038906439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN P STHR BIH-91 HU Tel el 82

Options :

1. % foge dery a1 3fds g
2. % gg Uil g1 8 oY Afde 31 A Adl § iR Afdear 9yt 3Mfdear o siferd B 81
3. ¢ o o g1 37 i it faftr o1 Seeia #va 8 R Mienfient ! Ara Tar o g & fore uged fasa S 9 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247
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Question Number : 100 Question Id : 5038906440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl

et o ¥ Swfed T,
Options :

1. ¥ IATHD

2. % gD

3. % qUATHD

4. % FUHTHS T4 gl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Disciplinel
6
503890128
0
0
No
No
0
20
No

Disciplinel
503890236
1
Online
Mandatory
20
20


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Section Marks : 20

view and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890282
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5038906441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following Political Philosophers (list 1) with the thought they are associated with (list 2).Select the correct code-

A_| Plato 1. | Classless and Stateless Society
B. | Socrates 2. | Construction of an Ideal State
C. | John Locke 3. | The Best Practicable State

D. | Karl Marx 4. | Uniting into Commonwealth

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. A-1,B-2,C-3,D-4

2. A-2,B-3,C-4,D-1

3. A-4,B-1,C-2, D-3

4. A-3, B-2,C4, D-1

Question Number : 101 Question Id : 5038906441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proffed Terifae a=ife (G@ @ 1) B 39U R & gaf SR Rk 3 (& 2) A IS §U S| 98! P b1 99 BifTL-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

L. | g 3R (afad= gars

i
FJ

SEauy T I o I (AT
ElEEicy HAATE SATa6Ie T

. 3
D. | Frer AT 4. | (rsgHSe H UholC BT

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. A-1,B-2,C-3,D-4

2. A-2,B-3,C-4,D-1

3. A-4,B-1,C-2, D-3

4. A-3, B-2,C4, D-1

Question Number : 102 Question Id : 5038906442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following political philosophers cannot be categorized as a contractualist?
Options :

1. ¥ Rousseau

2. % Locke

3. % Hobbes

4. ¥ Machiavelli

Question Number : 102 Question Id : 5038906442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa § 3 frg worifae g=ife o e & wu o avifed Tt fear o 9war 82
Options :

1. % =4I

2. % di

3. % glsd
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4. + Bfpgac

Question Number : 103 Question Id : 5038906443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following accepts the assumption that soul, being initiative and active, gives us, through education, the best things that are latent
in it?

Options :

1. ¥ Plato

2. # Aristotle

3. # Socrates

4. % George Sabine

Question Number : 103 Question Id : 5038906443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & @ ®1F 39 YR &) WHR ST 8 fob ST, Ued 3R Aithd 811 o BRI, g4 e & Arenw ¥, I9H fdh g8 wataw et
& &l g7

Options :

1. ¥ Wict

2. % 3R]

3. % gpId

4. % Sl qaTRH

Question Number : 104 Question Id : 5038906444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following was Plato’s theory of communism of families a logical corollary to his views?
Options :

1. ¥ Communism of property

2. # Conception of Justice

3. # Conception of wealth in Society
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4. ® Conception of substitution of regulated breeding

Question Number : 104 Question Id : 5038906444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wicl &1 URaRI & Argdre &1 Rigid FafaRad 3 9 ford W 39 [qaR! &1 difd e ivoms om
Options :

1. ¢ Hufti 1 Jrgare

2. ® TG B YR

3. % GHTS H Y= I SAYRUT

4. % ffaferd IS & UfaRITO BT SrayrRun

Question Number : 105 Question Id : 5038906445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following said that, "The Right of Nature is the liberty each man hath, to use his own power, as he will himself, for the
preservation of his own nature; that is to say, of his own life; and consequently, of doing anything, in his own judgement, and reason, he shall
conceive to be the aptest means thereunto"?

Options :

1. # John Locke

2. % Jean Jacques Rousseau
3. % Thomas Hobbes

4. ® George Sabine

Question Number : 105 Question Id : 5038906445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forem a1 fos, "Uipfae SiftieR a8 o=l § ot Ude aafad &I 3U-T Wad B Ui & IRl & fore Su-t g &1 qfaa
HT SUTANT B & o B, 31ufd 3um Tad & ofias &1; 3R Bawawy, 3 Ht 37 & forg, erom fAufg ok adb #, a8 3 foe wed Suged
1Y B9 DI BT HIM"?

Options :
1. % S dldb
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2. % SfiF Slog =)
3+ T gy

4. % ST gaTsA

Question Number : 106 Question Id : 5038906446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the Laws of nature given by Thomas Hobbes?
Options :

1. ® Whatsoever you require that others should do to you, that do ye to them.

2. % That Men perform their covenants made.

3. # To seek peace, and follow it.

4. ¥ To acquire as much private wealth as one can.

Question Number : 106 Question Id : 5038906446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefead # 9 BiH-1 UTHY 8T gRT faU 7T Uepfd & sl 7 4 U 181 82
Options :

1. % 379 o 3 1l Ied & fob TIR 3ATUS 1Y H<, I8 317 I 1Y B |
2. % YBY U g8 arensit (BIfd-d) Bl qRT Hd & |

3. % QA B TAT BT, 3R IHDT YT HT|

4. ¢ TG 81 G TS ¢ 1 TG HrAT

Question Number : 107 Question Id : 5038906447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Long Walk to Freedom" is the autobiography of which among the following figures?
Options :

1. # Martin Luther King Jr.

2. % Abraham Lincoln
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3. % Nelson Mandela
4 #® Mahatma Gandhi

Question Number : 107 Question Id : 5038906447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"= aiep ¢ WhieA" FufaRad # ¥ forg safdd &t siierdmt 82
Options :

1. ® I QR TS R

2. % 3[gTeH fefep

3. ¥ o8 Hed

4. % HgTH it

Question Number : 108 Question Id : 5038906448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true with regards to the Tocqueville’s recognition of the religion in a Democracy?
Options :

1. # He considered religion as a 'political institution' and vital to the preservation of freedom in a democratic society.
2. ¥ He pointed to the utility of religion and focused on the truth of only one religion.

3. # His extraordinary emphasis on religion was because he regarded it to be crucial to establishing democracy in France and other Christian
states of Europe.

4. % He believed that Democracy, because of equality of conditions needed moral lies and hence needed religion.

Question Number : 108 Question Id : 5038906448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Abad B B (Tocqueville’s) TRT & Bt ATl & Jae H Fufafad 7 3 & 91 99 781 82

Options :

1. % I YH P TH oA TR & U & JHT SN U Albdid JHTS H Wadl & TR & o gayuf 7 |
2. ¢ IR 4 Pt IUTAIA D1 3R SRT fodT 3R Hadt T Y &1 Tedls TR & Do foaT|
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3. % Y IR IT0T STYRYT SR SHITQ[YT Fifeh 9 U i 3R TR & 37 34Ts Iod! | Al RAIUd & & o Ag@yul A1d 3|

[ATFdT & BRUT Ahad P Afdd Fo DI HTIIH T Bl d-302 SHfem o f} aorsar it &

Question Number : 109 Question Id : 5038906449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labelled as Assertion (A) and other as Reason (R):
Select the correct answer from the code given below:

Assertion (A): Periyar was opposed to Gandhi's reconstructed version of varnashrama dharma as it did not correspond to the way the caste
system had historically functioned.

Reason (R): Periyar also interpreted Gandhian nationalism as a hegemonic project to maintain the dominance of the Brahmins and 'Brahminism'
in Indian society and the predominant influence of north India in the national politics.

Options :

1. ® Both (A) and (R) are true and (R) is the correct explanation of (A).

2. ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false

4. ® (A)is false, but (R) is true

Question Number : 109 Question Id : 5038906449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 G Hy AU T §, T B 3D UT (A) 3R TR Bl HRUT (R) HET T B
= T TTu e 3 TE) IR o1 99 BT

YHYT (A): TRAR T1ieft & quiism o & gAMAHT SXhru & faRiy 1 A ifes g8 Sfifa saai1 & UfAeiid U W &1 B & diidh &
NI BRI IR |

HRU(R): URIR F HRIT FH1ST H STRI0T 3R 'STRIvIare’ & Uy 3R AP i H IR HRd & @ THIG D ST I8 & forg
TiefiaTdl JTYaTe B Teh qeRgard! TR & U H AT foha|

Options :

1. % (A) 3R (R) THI I & 3R (R) (A) D! J&! RS g |

2. ¢ (A) 3R (R) T T §, AP (R) (A) D! T&1 UraT el 7
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3. % (A)9d ®, AfF (R) T B

Question Number : 110 Question Id : 5038906450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the List 1 (Persons) with List 2 (their place of Birth)

List 1 List 2
A_ | Pandita Ramabai 1. | West Bengal
B. | Kazi Nazrul Islam 2. | Punjab
C. | Bhai Kahn Singh 3. | Tamil Nadu
D.| EV.Ramaswamy Naicker | 4. | Maharashtra
Options :
1. % 1234
2. % 2341
3.9 4123
4. % 3241

Question Number : 110 Question Id : 5038906450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 (e PGl 2 (ST ST RIT) o 1Y JATd B

T T2
A | gfsar AT 1. | gfgg# damer
B. | ®rair Aol sealld 2. | gaa
C.| stz fEs 3. | affrears
D.| Edr yATEaAT A& | 4 | AGRISE
Options :
1. % 1234

2. % 2341
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3.9 4123
4_#% 3241

Question Number : 111 Question Id : 5038906451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following held the view that democracy can function smoothly and according to the concept of swaraj only if it is
decentralised?

Options :

1. ® Sardar Patel

2. % Jawaharlal Nehru

3. ¥ Mahatma Gandhi

4. % Rabindranath Tagore

Question Number : 111 Question Id : 5038906451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frae! foaR U1 fo diedd Yare U SR TWaRTS St TURUN & TR dHt 1 6% Tahdl § ofd SHHT [l 81?2
Options :

1. % TER Ucd

2. % SATERAId &

3. ' HETEHT iet

4. % G SR

Question Number : 112 Question Id : 5038906452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the principles which Gandhiji prescribed for fulfilment of his Economic thoughts?
Options :

1. # non-possession i.e., economic policies to be pursued on need-base and not on the want-base.

2. # inequality arises with irrational desires to have more than what one wants

3. % in technologically advanced countries, people do not consume goods in the same proportion they produce; labour-intense technologies are
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to be preferred to the capital-intensive ongs.

4.+ Principles of the Marxist communisim must be followed as much as practicable.

Question Number : 112 Question Id : 5038906452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o1 Rigid ek St & erm e faemt &t gfcd & forg FMuffed Rigial & 4 8 /2

Options :

1. % TR-Peol ! gt AT Hfaa B STagerdl-3NUR TR 3U-/™T ST A1 7 fh SRevd- TR TR |

2. % S PIs I8l & I 31U U F forw dbe i 3131l & 1Y SHT IS4 8lat o

3. % qHIP! T I IAd S H, AT I 3UTd H a3 BT IUHRT 761 R & o d I HRd &; YH-Te- Meanfifral & gon-Te+
CISNHIEAN I CRIRS IR RS

4. ¢ ATRIATE] GraTe & Rigidl &1 aURiyd ureH farar ST afeu |

Question Number : 113 Question Id : 5038906453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most original idea of Gandhiji in the sphere of Economics?
Options :

1. ® Swaraj

2. ® Sarvodaya

3. ¥ Trusteeship

4. ® Satyagraha

Question Number : 113 Question Id : 5038906453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR & & H Tiefof o1 Fe Hifere faaR Fafifea 9 s arg?
Options :

1. % ARSI

2. % gdicy
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3. ¢ IRl (THIRM)

4w TIMUE

Question Number : 114 Question Id : 5038906454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following with regards to Dr. Rammanohar Lohia:

L. In his book “Marx, Gandhi and Socialism”, Lohia made an analysis of principles of democratic socialism as an appropriate philosophy for the
successful operation of constructive programmes.

II. Although Dr. Lohia was a supporter of dialectical materialism, he put greater emphasis on consciousness.

II1. He abandoned the socialist movement in order to root for the capitalist state of the day.

Choose the correct statement/s with the code given below:
Options :

1. % Only I

2. ¥ Both I and II

3. % Only III

4. % 1,2and3

Question Number : 114 Question Id : 5038906454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

81 ISR difedl & ey H FHaferiad IR foar &

. 3O g “HIa, Tieh TS Aiifersd H, Aifedn A ToIdd® SrbHl & b SaTe o [og U SUgad G & U § didbdid
JHTSIaTG o Rrgidl &1 fazeyu faar|

1. T 87, Aifgar ggrde Hifdwdie & gade U, 351 a1 R 31fde SR faa)

[11. 381 39 T & Yulard] Ied DI ST SHH & fod JHTSare! Sficia &1 &n faar|

T U T Fe T &) HU/HUA HT 99 DI

Options :

1. % had |

2. ¢ TSR II
3. % $Had Il
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4. % 1,2 3R 3

Question Number : 115 Question Id : 5038906455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): The concept of Total Revolution as enunciated by Jayaprakash Narayan is a confluence of his ideas on seven revolutions i.e.,
social, economic, political, cultural, ideological and intellectual, educational and spiritual.

Reason (R): JP was not very rigid regarding the number of these revolutions. He said the seven revolutions could be grouped as per demands of
the social structures

Options :

1. ® Both (A) and (R) are true and (R) is the correct explanation of (A).

2. ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. #® (A)is true, but (R) is false.

4. ® (A) is false, but (R) is true

Question Number : 115 Question Id : 5038906455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 1 FYF RRU MU B, U I 3IfHYT (A) 3R TR Bl HRUT (R) HET 1T &

1 faU 7T Fe T gl IR BT T DIfoIT:

SHBYUT (A): SRAYDBTRI TRTIV] §RT UfUTied et Shifcl b1 SR HId shifcrdl IR b [aaRI BT WH &, Ul JrIford, i,
TS, ST, JaTRe® SR sifad, e SR STEnfde |

DR (R) : 3 il DI BT ! AR SUl Igd HoR ol A1 351 Hgl foh AId Hifad! Dl AsiTcleh IR H JrHTfSTh TRATSHT Bt
AT & AR YHEIgd [l off bl g |
Options :

1. % (A) 3R (R) THI I & 3R (R) (A) H! J&! ARSI g |
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2. ¢ (A) 3R (R) T 9 &, AfFA (R) (A) Pt Tg! IR a1 B |
| 3 % ayuere dfa@yamael

4. % (A) 3T B, AfbT (R) TI B

Question Number : 116 Question Id : 5038906456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct regarding the Hindu Nationalism of V.D. Savarkar?

Options :

1. #® He was of the opinion that identity formation was the essence of nationalism.

2. ® Savarkar argued that it was cultural, racial and religious unity that counted more in the formation of the nation.
3. ¥ According to Savarkar, nationalism was not a psychological feeling and cannot be cultivated.

4. ® Savarkar was of the opinion that Hindus constituted nation because they had developed close affinities with the land bound by Himalayas to
the Indian Ocean and the Indus River.

Question Number : 116 Question Id : 5038906456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t &), TR & g Ayare & Tdy & Fafiied ¥ A o a1 e T o

Options :

1. % IIp1 Hd U1 fob g AU Iyarg S8R 5

2. % FIRIPR A I 14T o U5 TiKp oI, T AR 1fies T &t S 1Y o FHTor § $ifeies A it |
3. ¢ AR & SIHR, AFAIG T HAATN-D HIGHT ol &t 3R 39 faRid 751 fasat o Febet ATl

4. % wﬁwmw%ﬁﬁﬁwmwmﬂ%ﬁmﬁﬁw 3R g et ¥ ISt YfH & A1y gy Ay
CEARG] |

Question Number : 117 Question Id : 5038906457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the 1960s and 1970s the emergence of the movement of the small farmers and landless labour started from
Options :

1. # Bihar
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2. ¥ West bengal
3_# anm‘nf

4. % Andhra Pradesh

Question Number : 117 Question Id : 5038906457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1960 3R 1970 & -1 H Bl frami 3R YHEH AoIgR] & SfTaIa BT 3ad T I g1 T
Options :

1. # fogR

2. ¥ YA ST

3. ® ToRId

4. % 3 USR

Question Number : 118 Question Id : 5038906458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following about Swaraj:

1.The term Swaraj incorporates within it two words - Swa (Self) and Raj (Rule).

2. It can be understood to mean both the rule of the self and rule over self.

3. It is the understanding of Swaraj as Rule over the Self that was highlighted by Mahatma Gandhi in his work Hind Swaraj.

Which of the above is/are correct?
Options :

1. % Only 1

2. % Only 2

3. % Only 3

4.4 1,2 and 3

Question Number : 118 Question Id : 5038906458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS & IR H fFgfafed ©R foar &
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1. RIS Ve, H &) Weg I | - W@ (F9) 3R IS (o) |
2. 29T 31 T T XM 3R T WR MG GIHT O FHS & bl g

3. I8 WIS 1 W00 R I & 993 7, T were e 7 3a o fée Tarme & IR foran i
SWIad # T HI-91/3 Tal 82

Options :

1. % $ad 1|
2. % Had 2
3. % $Hdd 3
4.¥ 1,2 3R 3

Question Number : 119 Question Id : 5038906459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not the provision of Representation Of The People’s Second Amendment Bill passed in 1996?
Options :

1. # Security deposit for contesting parliamentary and assembly election increased from rupees 500 to rupees 5000

2. ¥ Election will not be countermanded during election in case of death of candidate. The political party and independent candidate will have
authority to nominate a replacement within seven days

3. % The campaign period is reduced from 21 days to 14 days

4. ¥ Candidates will not be allowed to contest more than two seats at a time

Question Number : 119 Question Id : 5038906459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1996 H TR FafiiRed & 9 S 91 @i UidHia & fedia Ined fadue o1 uraem a1 82
Options :

1. % T 3R fIUraHT FATd e & oy S 1R 500 T0F F TGIHR 5000 IYY HR Y TS 8

2. ¢ TG & GRIM SHIGAR Bt GG & HTHS H FATd E Aa] (bl ST | IS ad R W IHEaR &1 91d =i & HidR 1
AR Ao A 7 HRIBR gRm

3. # R B 3fafy 21 ol Voo 14 RA R A S ]
4. % IR B U IR H 1 F 34fYp el IR gA1a e B g 781 il
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Question Number : 120 Question Id : SD38906460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Several initiatives have been taken to control the spread of nuclear weapons. In which of the following treaties India is a signatory?
Options :

1. ¥ The partial test ban treaty 1963

2. # The nuclear non proliferation treaty 1968

3. % The threshold test ban treaty 1974

4. % The comprehensive test ban treaty 1996

Question Number : 120 Question Id : 5038906460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R ORI & TR &1 FEfd 37 & o &3 ugd &1 71 & | Fafafed # ¥ fog 9fY & YRd ue gwdieredl 82
Options :

1. ¢ 3ifR1e gieror yfcrsiy HiY 1963

2. % TRHIY] S{UER Y 1968

3. % YYGIcS ¢ Ufdey TiY, 1974

4. % D GHET Ul i 1996
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Question Number : 121 Question Id : 5038906461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which country/countries India has 'New Moore' Island and 'Chakma' refugee dispute respectively?
Options :

1. # Bangladesh and Myanmar

2. % Myanmar and Sri Lanka

3. % China and Bangladesh

4. ¥ Only Bangladesh

Question Number : 121 Question Id : 5038906461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR BT HA: fb1 <2/ 20 & 1Y g R G 3R g IRt fyare 32
Options :

1. # ST 3R ”UR

2. % TR 3R ft dep
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Question Number : 122 Question Id : 5038906462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Education Minister in the first cabinet of free India?
Options :

1. #® Jawaharlal Nehru

2. % Sardar Patel

3. # Dr. S. Radhakrishnan

4. % Maulana Abul Kalam Azad

Question Number : 122 Question Id : 5038906462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YRd & Ugd shiaqe H fRien § & &9
Options :

1. % SdTER d1d A8

2. % WWER UcH

3. % . TY. qYUTHUH

4. T 3G B HTSIS

Question Number : 123 Question Id : 5038906463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is incorrect statement about NAM?

Options :

1. ¥ Bandung conference was the first Afro Asian conference which laid the foundation of non aligned movement
2. ¥ Nehru and Lal Bahadur Shastri were the only Indian Prime Ministers who attended the NAM summits

3. # In the first NAM summit, India welcomed the liberation movement of several African colonies but frankly discouraged the Afro-Asian
military action against colonialism
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4. ®* During India’s Chairmanship of NAM, special attention was drawn to the situation in Africa, pafticularly towards apartheid in South Africa

Question Number : 123 Question Id : 5038906463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH.0TH.& IR § B 91 HY TTeld 67
Options :

1. % SIS Ugal Uh! TREAR Y- T foR ef-Ruef sigia &I g Tt 4t
2. ¢ YR gUM ATl § Had g iR d1d S8TgR Ua! 3 T1.U.TH. RRaR THa & HiT fae §

3. % Ugd T1.U.UH. We #, URA A &3 3APId! IUMARN & Gfad fiale 1 WRTd fhal afd- Jufaare & Radrs wh! ThRems 3=
PHRATS P WP FU I gl foodT

4, % YR B TTUTH, DI AT P SRM, 3ThIhT oi Rufd IR ORIy =0 3 <farmr smpiet 7 {1 ot 3R a9 e siefya fosar man
|

Question Number : 124 Question Id : 5038906464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afro Asian countries have been united in a common foreign policy based on ‘panchsheel' doctrine having 5 views

A. Non-aggression

B. non-interference

C. Peaceful coexistence

Which of following should come in place of D and E?
I. Recognition of sovereignty and integrity of a country
II. Mutual cooperative trade

II1. Mutual respect

IV. Joint countering against terrorism

Options :

1. % Tand II
2. ¥ Tand 111
3. % Tand IV
4. ® Il and IV
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Question Number : 124 Question Id : 5p38906464 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIh! TRMATE G315 faaRi arat dasiter Rigid W smenid Te I fager ifd § Uage gU &-
A. TR-SThTHGT

B. 3G&I&

C. Rrifrgul wgsiRaa

D....

1. frdt 321 ot AuYaT 3R RIS &t A
1. IR S TghRI ATUR

11, TR 37X

IV, 3T dlg o RIATH Tgad GabTaal
Options :

1. % 13RI

2. 13RI

3. % [3RIV

4. % 1 3R 1V

Question Number : 125 Question Id : 5038906465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which pair of countries were not the members of ASEAN initially in 19677
Options :

1. # Singapore, Thailand

2. # Indonesia, Malaysia

3. ¥ Laos, Myanmar

4. # Malaysia, Philippines

Question Number : 125 Question Id : 5038906465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % R, ¥Eds
2. % IZMRME, o
3. ¢ T3, R
4. % AARM, freidig

Question Number : 126 Question Id : 5038906466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nehru's proclaims on India’s world view-

L. In the emancipation of colonial and dependant countries and peoples , we are particularly interested

II. We repudiate utterly the Nazi doctrine of racialism, wherever and in whatever form it may be practiced
III. One of the pillars of our foreign policy is to fight against racial discrimination

Select the correct statement(s) from the given statements.
Options :

1. % only I

2. % only II

3. % only III

4.%1,2and 3

Question Number : 126 Question Id : 5038906466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & 3y EBHI0 IR A5E Bt Uo7

1. 3fafRre 3R 3nf3a =0 SR | &t gfadd H, 8 faviy 0 § 3 ad §

1. B -TEaTe & ol Rigid &) O ave 9 WIS HRd & , 16 Pal +f 3R i +ft &9 o SqHh1 R0 g1 @I 8
111, 89N fag e ifa & Wi 7 T Tl VgHTd & s ds1g

f3T T B O A TG U/ HYUA BT A |
Options :

1. 8 Had 1
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2. % HAAII
3% Hae g

4.9 1,2 3R 3

Question Number : 127 Question Id : 5038906467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clinton administration adopted a policy of “cap, freeze and roll back” for nuclear programs of
Options :

1. ¥ India

2. % Germany

3. % China

4. ® Japan

Question Number : 127 Question Id : 5038906467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

face T U= = & TRHATY] HRIGHH & Ul "o, ieT 3R A ah" DI A1 TS|
Options :

1. ¥ YRd

2. % ST

3. % T

4. ® SU-

Question Number : 128 Question Id : 5038906468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1965, the dispute over the Rann of Kutch between India and Pakistan was resolved with the intervention of which British PM?
Options :

1. ¥ Edward Heath

2. ¥ Harold Wilson


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

3. # Margaret Thatcher
4_ % Alec nmlg]nq home

Question Number : 128 Question Id : 5038906468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1965 H HRA 3R UIfhE™ & ol B3 & 01 F1 faare fry fafewr diun & gxaaly & gagmar a1 U
Options :

1. % USds gy

2. ¥ RS fawH

3. % Ore &R

4. % Udd SI-8gH

Question Number : 129 Question Id : 5038906469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who releases the Human Development Report?
Options :

1. ¥ United Nations Development Program

2. # Planning Commission of India

3. ® Ministry of Human Resource Development
4. ® NITI Aayog

Question Number : 129 Question Id : 5038906469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H1a faore RUid fardads gRT SIRT &1 Sl g2
Options :

1. ¥ Tgad Ty faera Hrisy

2. % YRd BT AT STANT

3. % {4 1Y fdprg HaTerg
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4. % T AN

Question Number : 130 Question Id : 5038906470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National development council consists of (A) Prime Minister and union cabinet, (B) state chief ministers, (C) and (D)
Find (C) and (D)

I. Administrators of UTs

II. Chief Justice of India

III. Members of the NITI Aayog

IV. CAG of India

Options :

1. % Tand II
2. % Tand 111
3. % Tand IV
4. % Il and IV

Question Number : 130 Question Id : 5038906470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS fashTg uRwe H M & (A) Tu HAT SR Sl Bfade, (B) Isal & J&IHAT, (C) 3R (D) |
(C) 3R (D) Tl-

1) s MR TR o YRIND

1) YRd & G i

111) A 3T & Je

IV) YRd & (9% Ud AgTeaTuRI&d
Options :

1. % 10911

2. ¥ 1T I

3.% [T IV

4. % UG IV

Question Number : 131 Question Id : 5038906471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who argues that for anyone with a scientific approach to political phenomena, the idea of an independent comparative method seems redundant?
Options :

1. ¥ Harold Lasswell

2. ® Gabriel Almond

3. % Arend Lijphart

4. % AN. Eisenstadt

Question Number : 131 Question Id : 5038906471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % TfeTd fTTHS
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4. % QU SIS

Question Number : 132 Question Id : 5038906472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In comparative politics, what is an alternative to the experimental method?
Options :

1. ¥ Empirical Method

2. # Case Study method

3. ¥ Statistical method

4. # Ontological Method

Question Number : 132 Question Id : 5038906472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 5038906473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following authored the book “The Political System”?
Options :

1. ¥ Karl Mannheim

2. ¥ David Easton

3. % Charles Merriam

4. ® Talcott Parsons

Question Number : 133 Question Id : 5038906473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¢ 3fag $%

3. % T ARkay

4. % TTPhic U™

Question Number : 134 Question Id : 5038906474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
David Easton identified attributes of a political system in his conceptual framework of politics. Which of the following is not one of those
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attributes?

Options :

1. # Inputs and Outputs
2. # Units and boundaries
3. # Differentiations within a system

4. ¥ Interrelatedness within the system

Question Number : 134 Question Id : 5038906474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 135 Question Id : 5038906475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gabriel Almond devised a conceptual framework for political system. According to his system, which of the following is not one of the four
characteristics of a political system?

Options :

1. # All political systems have structures

2. % The same political functions are performed in all political systems.
3. # All political structures are multifunctional

4. ¢ Integration within a system.

Question Number : 135 Question Id : 5038906475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 5038906476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following correctly describes the historical/evolutionary theory of origin of State?

Options :

1. ¢ The state is a historical growth or the result of gradual evolution. It is a continuous development, always in the process of evolution.
2. % The state is the result of man's deliberate intentions expressed through a pre-civil and pre-political period, called the state of nature.
3. ® The State is a product of society at a certain stage of social development.

4. ® The State is the product of evolution

Question Number : 136 Question Id : 5038906476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 5038906477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a criticism of the Marxian theory of Origin of State?

Options :

1. #® The state appears because the antagonistic classes appear; these classes appear because the private ownership of means of production
appears.

2. # The state means public power, the legal right to use force.
3. # The state is the result of the class society and came at a definite stage of social development.

4. ¥ That the state has been an oppressive institution, always so, is too much to believe.

Question Number : 137 Question Id : 5038906477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 5038906478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is one of the features of the Liberal-Individualistic Perspective of State?

1. The individual is the focal point of all activities.

2. Individual, being the judge of what is in his interest, should have all the rights and liberties: nothing is more important than his autonomy; his
rights and his liberties are inalienable.

3. The state is a means to the end of the individual. Its powers are in proportion to its functions.

Options :

1. % Only 1

2. % Only 2
3. % Only 3
4.%1,2and3
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Question Number : 138 Question Id : 5038906478 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
QOrientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 5038906479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most appropriate assumption of the Classical Realism worldview of International Politics?

Options :

1. ¢ That international politics is driven by an endless struggle for power, which has its root in human nature.

2. # The structure of the international system, for the Classical realists, is a major determinant of state behaviour.

3. # Classical realists tend to explain international conflict within the framework of the anarchic structure of the international system.

4. ® The classical Realists insist that conflict can emerge even if the actors have benevolent intent towards each other.

Question Number : 139 Question Id : 5038906479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 5038906480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The origin of the concept of modern "nation-state" can be traced back-to which of the following?
Options :

1. #® The Treaty of Paris

2. ¥ The Treaty of Westphalia

3. # The Treaty of Vienna

4. ® The Treaty of Osnabriick

Question Number : 140 Question Id : 5038906480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 5038906481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): . Feminist writers like Rosemary Grant argue that Realist theory endorses patriarchy because for Realists, patriarchy is necessary
for maintaining social order and the state.

Reason (R): International Relations theory privileges man and excludes women because it is man who is identified with the state and the state is
the basis of patriarchal relations in Realist discourse.

Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. # (A)is true, but (R) is false.

4. # (A)is false, but (R) is true.
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Question Number : 141 Question Id : 538906481 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I3 G HyA AU T §, U &Y SHUEHUT (A) 3R TR B HRUTN (R) HET AT B
T feU T e 9 ! SR BT 99 DI

BT (A): ASTERY Tie oY ARG TRah! o1 b ¢ [ gurdard) Rigia fugam o1 wwedf= a1 & wife gurdafeat & o, gmfses
IR 3R I P §L [ & fore g sawge g |

HRUI (R): SARTPTT Faies Riegicd geul o1 fIAWIASR a1 3 SR Afgerrafl 1 aTex Bl ¢ Hifdh ug T3y 8 Sl sy & 1Y UgaHl §ldl &
3R Iog gurdard} yaa A fUgerers el &1 SR 7|

Options :

1. ¥ (A) 3R (3R) THI I & 3R (R) (A) P! J& RS B |

2. % (A) 3R (R) I T &, B (R) (A) BT TE AT el &

3. % (A) T B, AP (R) 3T G|

4. % (A)TAd §, Al (R) I §

Question Number : 142 Question Id : 5038906482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the Second World War, the principle of self-determination found its way as a reference in which of the following?
Options :

1. ¥ Atlantic charter

2. # Fourteen Points of President Wilson

3. # Neutrality Act of 1939

4. ® Four Freedoms Speech

Question Number : 142 Question Id : 5038906482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 143 Question Id : 5038906483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labelled as Assertion (A) and other as Reason (R):
Select the correct answer from the code given below:

Assertion (A): Rights are indeed claims, but every claim is not a right.

Reason (R): A claim is not a right if it is not recognised; it is not a right if it is not enforced.
Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3. # (A)is true, but (R) is false

4. ® (A) is false, but (R) is true

Question Number : 143 Question Id : 5038906483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 5038906484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the Cold-War, the US-led NATO and the Soviet-led came into existence.
Options :

1. ¥ Moscow Pact

2. ¥ Warsaw Pact

3. # Berlin Pact

4. ¥ Minsk Pact

Question Number : 144 Question Id : 5038906484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 5038906485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following described liberty as “The wider the area of non-interference, the wider my freedom.”?
Options :

1. ¥ Isaiah Berlin

2. # Jeremy Bentham

3. ¥ Rousseau
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4. % John Locke

Question Number : 145 Question Id : 5038906485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 5038906486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are argument(s) of the advocates of the positive liberty?

1. They look to enlarge the area of self-determined action as much as possible.

2. They argue that we have to consciously and rationally choose to fulfil our desires.

3. Another Conception of widening positive liberty is through democratic mechanisms of taking collective decisions.

Options :

1. % Only 1

2. % Only 2
3. % Only 3
4.%1,2and3

Question Number : 146 Question Id : 5038906486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % Had 3
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Question Number : 147 Question Id : 5038906487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marx’s principle of communism can be associated with which of the following kind of justice?
Options :

1. ¥ Need based Justice

2. % Want based Justice

3. # Right based Justice

4. ® Desert based Justice

Question Number : 147 Question Id : 5038906487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 5038906488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did India and China restore full diplomatic relationship after the 1962 Indo-China War?
Options :
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1. ¥ 1974
2 _# 1975

3. ¥ 1976
4. % 1978

Question Number : 148 Question Id : 5038906488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #1974

2. %1975

3.4 1976

4. % 1978

Question Number : 149 Question Id : 5038906489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Positive equality can be understood as which of the following?
Options :

1. ® Absence of equal opportunity

2. % Dismantling of certain privileges

3. ¥ Availability of opportunity

4. % Absence of economic and social exploitation

Question Number : 149 Question Id : 5038906489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 150 Question Id : 5038906490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Harold Laski, which of the following means political equality?

Options :

1. ¢ Political equality means the authority which exerts that power must be subject to rules of democratic governance.
2. % Political equality depends not merely on the absence of disabilities, but the presence of abilities.

3. # Political equality becomes meaningless in the absence of equal opportunities to get justice.

4. ® Political equality means the law, in certain special circumstances, can make rational discriminations.

Question Number : 150 Question Id : 5038906490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 5038906491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Openness of educational institutions on an equal basis to facilitate social mobility, is an example of which kind of equality?
Options :

1. # Political Equality

2. ¥ Social Equality
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3. # Legal Equality

4_ % Economic Pr}lm]i‘rv

Question Number : 151 Question Id : 5038906491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR UG-l B YH S & fore el TR &1 THH STUR TR GaTaH (g UHR &1 FHHT BT 3ETER 62

Options :
1. % IoHITd® JHET

2. « TTATSIS FHAT
3. % I FHF

4. % 31fep g

Question Number : 152 Question Id : 5038906492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the pluralistic attack on the Austin’s Concept of Sovereignty?

Options :

1. # Law is the will and the command of the sovereign

2. % Sovereignty has the legitimate physical force to exert command and obedience and enforce its laws
3. ¥ The sovereign is not determinate

4. # The Sovereign receives habitual obedience from the people

Question Number : 152 Question Id : 5038906492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ 1 a1 3ReT &1 TUYdT Bt AR TR SgadTd! 18T 82

Options :

1. % B GUY BT 3BT 3R AR

2. % TYYAT & U TR 3R HTATHINAT AR HRA SR 307 B! B AN HRA & forg 9 i sa g |
3. ¢ Ty e e 8
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4. % GUY AN SHTed- SRR T BT & |

Question Number : 153 Question Id : 5038906493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
First backward class Commission and the second record class Commission submitted their reports orderly in

Options :

1. #® January 1953 and December 1979
2. % December 1955 and October 1980
3. # December 1953 and January 1979
4. ¥ March 1955 and December 1980

Question Number : 153 Question Id : 5038906493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yyH st otf emanT 3R fgdia siftrer 9oft smanT A I 3o RO uqd &1 ot
Options :

1. ® SEa3Y 1953 3R fHaR 1979

2. % TR 1955 3MR ST 1980

3. # faOaR 1953 3R ST 1979

4. ¥ TTF 1955 3R f&HaR 1980

Question Number : 154 Question Id : 5038906494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1991 India adopted the policy of liberalization, privatization and globalization. It was similar to the process of renovation called ‘Doi Moi’
started in 1986 by:

Options :

1. # Cambodia
2. # Japan

3. ¥ Vietnam

4. % Malaysia
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Ouestion Number - 1584 Ouestion Id -

D

38906494 Question Type : MCQ Option Shuffling : Yes

Oy T Ut IO Juatytauir ra—

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1991 H YR A ISRIH0T, ol 3ik Ifieur ot ifd 3uerg | U8 518 A ATHe TR Ufshar A gaH fAfa o, S 3=1gR1 1986
T SRR TS ot

Options :

1. % dHaifsar

2. % SO

3. ¢ faga|

4. % TARMAT

Question Number : 155 Question Id : 5038906495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After Pandit Nehru who has the longest tenure as India’s PM?
Options :

1. ® Shri Atal Bihari Bajpayee

2. % Mrs. Indira Gandhi

3. % Dr. Manmohan Singh

4. % Shri Narendra Modi

Question Number : 155 Question Id : 5038906495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ufed AeE & 91¢ HRd & YT T3l b U § o dl pRIGI [Pobl 82
Options :

1. % &t 3red fogr) areudt
2.« i) sfewy mich

3. % S gHIe- Rig

4. % i Rz A



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 156 Question Id : SD38906496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The composition of the parliament committees is determined by
I. Lok sabha speaker

II. Cabinet minister

1. Chief whip

IV. President of India

Options :

1. % I and 111
2. % ITand IV
3. % Tand II
4. % Il and IV

Question Number : 156 Question Id : 5038906496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e iAol &1 WA fhad gR1 Ayid o e g2
1. SHGHT 3{egal

11. Hfaee d=ft

Options :

1. ¢ 13RI
2. % 3RV
3.% 3R

4. % 1 3R 1V

Question Number : 157 Question Id : 5038906497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year were the states of Haryana and Punjab created?
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Options :
L% 1962

2. % 1964
3. ¥ 1966
4. % 1968

Question Number : 157 Question Id : 5038906497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI 3R USTTe I Ty a8 &+1T 7T A9
Options :

1. % 1962

2. % 1964

3. ¥ 1966

4. % 1968

Question Number : 158 Question Id : 5038906498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two contrasting models of democracy; procedural and substantive democracy are referred respectively as

Options :

1. ® Organised and Unorganised democracy
2. ¥ Formal and informal democracy

3. # Conservative and liberal democracy

4. ® Need based and Want based Democracy

Question Number : 158 Question Id : 5038906498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dAlhdd & <) faudld Hied ufshard s 3R aRdfde dlhds I HHT: CA IR
Options :

|, % ST 3R RIS b
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2. ¢ ANTEIRSD 3R YRS Apa
-

4: % SRl SNHTRE IR =Ted SMed deds

Question Number : 159 Question Id : 5038906499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who argued that in relation to setting up democracy both ‘state and society are complementary to each other’ ?
Options :

1. ¥ Nirja Jayal

2. % Atul Kohli

3. ¥ SH Rudolph

4. # Patrick Heller

Question Number : 159 Question Id : 5038906499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A B RITTAT & JaY T T 3R THTST | U GOR &b IR o' T8 b (o fadl?
Options :

1. ¢ ISl g

2. % 3fd Dlgal

3. % THUT FSle

4. % Ufee R

Question Number : 160 Question Id : 5038906500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following amendments the decentralisation has been democratised and the scope of democracy has been expanded to women,
OBCs and dalits at the grass root level?

1. 73rd constitution amendment

2. 74th constitution amendment

Options :
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1. % Only 1
2 ﬂn]y')

3. ¥ Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 160 Question Id : 5038906500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 g I # AP eiwRur BT Alhdaim v fodl 1§ 3R didhds ol SrRT STHHT TR TR Afgarsh, e iR ferdl a&

o T ma g?
1. 739 GiqyT S=ney=
2. 7491 FiqYT HRNY
Options :
1. % ohad 1
2. % dhad 2
3.V @8R 2
4.% A1 ARAE 2

Discipline4
Group Number : 9
Group Id : 503890131
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Discipline4
Sectiomrtd— 503890239
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890285
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5038906501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did the Indian Government make political efforts to accommodate wealthy peasants, and resorted to populism
and patronage to manage the interests of different classes?

Options :

1. ® Before 1947
2. % 1947 - 1966
3.9 1966 - 1990
4. ® 1990 onwards

Question Number : 161 Question Id : 5038906501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRad o 9 food au  YRd WRBR A 4 frd! o1 RIS 6 o forg e Ta fo, $iR fafie ol & fedl &1 Uae oA
& foTT ApqHTaaTE SR TR&U &1 HERI ferm

Options :

1. % 1947 4 Ugd

2. % 1947 - 1966
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3.+ 1966 - 1990
4% 1000 H I

Question Number : 162 Question Id : 5038906502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following personality gave Seven Revolutions or Sapta Kranti, as the idea of Socialism?
Options :

1. ¥ Rammanohar Lohia

2. # Jai Prakash Narayan

3. # Indira Gandhi

4. ® Lal Bhadur Shashtri

Question Number : 162 Question Id : 5038906502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed o 3 forg cafdia A gareiare & f9aR & U § 91d shifadl a1 9t shifd &1

Options :

1. ¢ IR difedn

2. % Y UHTR ARIIU]
3. % gfeRr et
4. % QT 98GR Xl

Question Number : 163 Question Id : 5038906503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states had launched ‘Operation Barga’?
Options :

1. #® Odisha

2. % Assam

3. ¥ West Bengal
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4. ® Tripura

Question Number : 163 Question Id : 5038906503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad & 9 ford Isa = ' SifiR=H S YR foedt Ut
Options :

1. % IS

2. % 3{H

3. ¢ Ui ST

4. % BQy

Question Number : 164 Question Id : 5038906504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following International Convention is wrongly matched with its year of coming into effect?
Options :

1. # International Covenant on Economic, Social and Cultural Rights (ICESCR) - 1976

2. ¥ The European Convention on Human Rights - 1950

3. ¥ The American Convention on Human Right - 1978

4. % The African Charter on People's and Human Rights - 1986.

Question Number : 164 Question Id : 5038906504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 S 91 SIRIPI SHia 396 AF 81 & ay ¥ Tad deid 9 Hdl Tl 52
Options :

1. % 3fifes, o SR APl SHfYPRI IR SaRIP SRR (ICESCR) - 1976

2. ¢ JHEATYSRI TR IRIYR TR — 1950

3. % T HYHR TR ARDI H-aH - 1978

4. % @R 3R AMATISERI TR 3IBIDHT IR - 1986
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Question Number : 165 Question Id : SD38906505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many articles are in UDHR ?
Options :

1. % 28

2. % 29

3.9 30

4. % 3]

Question Number : 165 Question Id : 5038906505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g €1.090.3R (UDHR) # foha 3rgwde 82
Options :

1. % 28

2. % 29

3. ¥ 30

4. % 31

Question Number : 166 Question Id : 5038906506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The poems “Bidrohi” and “Anandamoyeer Agamane” were the masterpieces of whom among the following?
Options :

1. ¥ Mahatma Gandhi

2. # Nazrul Islam

3. % Pandita Ramabai

4. % Bankim Chattopadhyay

Question Number : 166 Question Id : 5038906506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Faan e iR "Rk s Frafifad 3 3 feae Sy Shual i
Options :

1. % TETET i

2. % qoRed S

3. % dfgar IqmETs

4. ¢ dfy IgIaTE™

Question Number : 167 Question Id : 5038906507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Political parties have found a new level of operation in the panchayat and nagarpalika institutions after which of the following amendments?
Options :

1. % 72nd and 73rd

2. % 73rd and 74th

3. # 74th and 75th

4. ® 75th and 76th

Question Number : 167 Question Id : 5038906507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed # 3 forg T2y & a1e Toifae gal 3 U 3R TRUIeT SRITMH! H JdTe o1 T 797 TR Ul 82
Options :

1. ® 729 3R 739

2. ¢ 739 3R 749

3. % 749 3R 754

4. % 759 3R 769

Question Number : 168 Question Id : 5038906508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
In which year did the former state of Jamfnu and Kashmir get its first woman Chief Minister?

Options :
1. # 2014
2. %2015
3.¥ 2016
4. % 2017

Question Number : 168 Question Id : 5038906508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 3R HIHR 59 YAud o0 B b af 30+t ugeh Afgen gerHa el
Options :

1. % 2014

2. % 2015

3. %2016

4. % 2017

Question Number : 169 Question Id : 5038906509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had coined the famous slogan ‘Jai Jawan-Jai Kisan’?
Options :

1. ¥ Lal Bahadur Shastri

2. ® Jai Prakash Narayan

3. # Gopal Krishna Gokhale

4. ® Jawaharlal Nehru

Question Number : 169 Question Id : 5038906509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“STg S-S54 e &1 URig AR foram foam
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Options :
|« Id] §EIgR Rl

2. % TG UHTRN ARII0
3. % U H0T IR

4. % SAgR AT A8%

Question Number : 170 Question Id : 5038906510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Between which years did the government of South Africa follow the policy of Apartheid?
Options :

1. # 1965-1992

2. % 1936-1972

3. ¥ 1948-1989

4. % 1945-1975

Question Number : 170 Question Id : 5038906510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GI&[UT SIbIehT Bt TR A fobd qu o dla TTHE b1 il b1 T fobar
Options :

1. # 1965-1992

2. % 1936-1972

3. ¥ 1948-1989

4. % 1945-1975

Question Number : 171 Question Id : 5038906511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mobilization and politicisation of masses by parties may have made Indian democracy
Options :

1. ¥ More deepening
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. % More inclusive

LA
1IvViUIV VIIVULUI VU

2
2 ONAora affantic
e
4

. % More depending

Question Number : 171 Question Id : 5038906511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I GRT ST BT AHEE DR AR ASHITTD A YR A Pl e g
Options :

1. % 3R TE

2. ¢ 3fed FHIGR

3. % 3 YUl

4. % 3ffYew iR

Question Number : 172 Question Id : 5038906512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which leader of the following proposed the Preamble before the Drafting Committee of the Indian Constitution?
Options :

1. ¥ Mahatma Gandhi

2. % Babasaheb Ambedkar

3. # Sardar Patel

4. ¥ Jawaharlal Nehru

Question Number : 172 Question Id : 5038906512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad 7 3 forg dier 3 Ium & 7 afifa & e vdrer (D ) &1 udra @

Options :
1. % OgTEHT el
2. % FIETed fdSH
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3. % JER Ucd

N
4 SEId I

Question Number : 173 Question Id : 5038906513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has come up with the term "veil of ignorance"?
Options :

1. #® Robert Nozick

2. ¥ John Rawls

3. # Ronald Dworkin

4. % JSMill

Question Number : 173 Question Id : 5038906513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"I BT ST Vg DI AT UT?
Options :

1. % J§E AMD

2. ¢ S U™

3. % TeS Slfch

4. % JUg fd

Question Number : 174 Question Id : 5038906514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three basic principles of RSS were a uniform, a salute and a drill. Later on what became the 4th principle?
Options :

1. # Nationalism

2. ¥ Hinduism

3. ¥ Patriotism
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4. ® Awareness

Question Number : 174 Question Id : 5038906514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRUHTH & T I RIGId - g, JarH 3R 3narg 91 &8 | AT Rigid s a4
Options :

1. % JFaG

2. # fgged

3. ¢ RIHIRT

4. ® SRehdl

Question Number : 175 Question Id : 5038906515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following wrote the book “Hindu Society at Crossroads”?
Options :

1. ¥ K.M. Pannikar

2. # Sarvepalli Radhakrishnan

3. # B.R. Ambedkar

4. # Dr. Rajendra Prasad

Question Number : 175 Question Id : 5038906515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o 3 foum i Tamed te pRRIg" T forgt 37
Options :

1. ¢ &.TH. Uftradhr

2. % gAY AUTHUH

3. % §].3R. ESH

4. % 3[.I™IE UG
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Question Number : 176 Question Id : 538906516 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Consider the following about different streams of Political theory:

I. Classical political theory emerged in the ancient Greek culture, in the writings of Socrates, Plato and Aristotle, and continued until the
beginning of the nineteenth century.

I1. Modern political theory encompasses in itself a host of diverse trends such as the institutional structural, scientific, positivistic, empirical,
behavioural, post-behavioural and the Marxist.

Choose the correct statement based on the Codes given below:
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. ® Neither I nor II

Question Number : 176 Question Id : 5038906516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had I

3. ¢ 13RS

4. % A RAG I

Question Number : 177 Question Id : 5038906517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Match List I (Person) with List II (their Idea of Liberty)

ListI List IT
A | Thomas Hobbes 1. | Absence of Coercion
B. | Isaiah Berlin 2. | Silence of Laws
C. | Robert Nozick 3. | Absence of coercion of man by
state, society or his fellowmen
D. | Milton Friedman 4. | Natural right to self-ownership
Options :

1. ¥ A2, Bl, C4, D3
2. % A1,B2,C3,D4
3. % A3,B4,C2,D1
4. % A4,B3,Cl,S2
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Question Number : 177 Question Id : 5038906517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! 1 (AT B G 11 (b Wei=dl ol fadR) & iy B

T LS
A | ATAT BT .| TereEdi & wea
B. | mamamg afera 2. | aIefal bl gedt
C. | facAfas® 3. | T, WATS A1 38k AT GarT i
st o O STac el &l Had
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Options :

1. ¥ A2, Bl, C4, D3
2. % A1,B2,C3,D4
3. % A3,B4,C2,D1
4. % A4,B3,Cl,S2
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Question Number : 178 Question Id : SD38906518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the criticism drawn by Polish Marxist Rosa Luxembourg against the political ideology advocated by Lenin?
Options :

1. ¥ She argued that this would place the working class in tutelage of the party

2. # She argued that the only revolution would be without a State

3. # She argued that Leninist theory of Marxism is a hoax.

4. % She argued that the Leninist methods are doomed to fail

Question Number : 178 Question Id : 5038906518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 5038906519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
V.I. Lenin’s organisational structure for the Communist Party is based on his thesis, most popularly known as

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Imperialism

2. Democratic Socialism

3. Socialist Communism
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4. Marxist Communism

Question Number : 179 Question Id : 5038906519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dt. 3. A o FRAE Uret &t WSS e 3! R R sutia 7, o ga9 uiig ©u ¥ A ST ST g |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. roTTarG

2. Al diFe® JHSAIG

3. JHISATG] YrgdTg

4. ATRIATE QrgdTg

Question Number : 180 Question Id : 5038906520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following with regards to the George Lukacs rejection of Dialectical Materialism:

I. He was critical of the view that Marxism was like physical sciences.
II. He accepted the Marxian theory of dialectical materialism.

Which of the given statements is/are correct?
Options :

1. ¥ Only I

2. % Only II

3. % BothIandII

4. % Neither I nor 11

Question Number : 180 Question Id : 5038906520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

Correct Marks : 1 Wrong Marks : 0.25
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890286
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5038906521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The theory of Socialism argues that the general social welfare will be the result of which of the following?
Options :

1. #® Redistribution of Property

2. % Abolition of Private Property

3. ¥ Individual maximization of interest.

4. ® Abolition of State

Question Number : 181 Question Id : 5038906521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % Y BT 3+

Question Number : 182 Question Id : 5038906522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following was the first person to use the term Socialist?
Options :
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1. ¥ Saint Simons
2 % Robert Qwens

3. ¥ Charles Fourier
4. % Proudhon

Question Number : 182 Question Id : 5038906522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % He-RAg

2. ¢ aE i

3. % I BRIR

4. % i

Question Number : 183 Question Id : 5038906523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book “Philosophy of Poverty”?
Options :

1. ¢ Proudhon

2. % Isaiah Berlin

3. # Robert Owens

4. % Karl Marx

Question Number : 183 Question Id : 5038906523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« gl
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Question Number : 184 Question Id : 5038906524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following describe/s the Perennialism theory of Nationalism?

I. Perennialism concentrates on the history of nations which are described as ancient and immemorial.

II. They see the nation as a political community, modern, social construct and social creation, designed for an age of revolution and mass
mobilization.

Options :

1. # Only I is Correct

2. % Only II is Correct

3. % 1 and Il both are correct

4. ® T and II both are incorrect

Question Number : 184 Question Id : 5038906524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁr@aﬁ@rj:g%agaﬁq%&id &1 U BT 87

1. IRGHIATE 3 VT & 3fagr W Higd g S uriF 3R 3ifa urii= & Fu # aftfd fearmn g1
%@m‘? T THe, Y, Jramiors Ao ik T FHaftr & w0 & 35d €, S Sifd 3R o siicie & g & for
T

Options :

1. % Had 1 T8l @

2. % HAA sl g

3. ¢ 13RI EHI 98l §
4. % [ 3R 11SHI TAd S

Question Number : 185 Question Id : 5038906525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Antonio Gramsci’s philosophy of Praxis ik a developed form of which of the following?

Options :

1. ¥ Communism
2. % Marxism

3. ¥ Hegelianism
4. ® Rawlsian

Question Number : 185 Question Id : 5038906525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # qgdiq
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4. % Ty

Question Number : 186 Question Id : 5038906526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who put forth the following idea, "“Human beings’, unlike all other objects, possess dignity. They are, for this reason valuable in themselves."?
Options :

1. ® Rene Descartes

2. ¥ Immanuel Kant

3. # ] P Sartre

4. ® Adam Smith

Question Number : 186 Question Id : 5038906526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & 3 gg foar faram faar &t s Tiforl § orerT, A &t U TIRHT Bl 8 | 39 RO 9 30+ 3T H 9§49 & "2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Options :
.
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3. % St O
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Question Number : 187 Question Id : 5038906527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following wrote the famous essay titled “On Contradiction’?
Options :

1. # Antonio Gramsci

2. % George Lukacs

3. ¥ Mao Zedong

4. % Lenin

Question Number : 187 Question Id : 5038906527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 188 Question Id : 5038906528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not one of the features of welfare state?
Options :
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1. #® The recognition that every member pf the community, solely because he is a human being, is entitled to a minimum standard of living.

2% The welfare state is committed to a o]icy of economic stabi]ity and progress, seeking to elimindte_the cvcles of violent booms and busts in

the economy by public policies.
3. # The welfare state is committed to full employment as one of the top priorities of public policy.

4. ¥ The term Welfare State can be used interchangeably with the term Socialist State.

Question Number : 188 Question Id : 5038906528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 5038906529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Welfare State was a result of Transformation of Classical Liberalism into which of the following?
Options :

1. #® Negative Liberalism

2. ¥ Positive Liberalism

3. # Neo-Realism

4. ¥ Marxist interpretation of Society

Question Number : 189 Question Id : 5038906529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HABHR I A IeRare & FHafaRad 7 ¥ fgd ufvad &1 aloms ur

Options :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

1. # FHRIHD aRdIq

o THPITR I dId
AL M a3 B e e~ e e

!\)

. % 99-gYrarg
. % AN B ARG AR

5w

Question Number : 190 Question Id : 5038906530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following best describes the purpose of a Welfare State?
Options :

1. # The welfare state attempted to reconcile the interest of the Community with that of the society so that the essentials of the capitalist system
would be preserved while at the same time, removing its ill-effects.

2. # The welfare state attempted to reconcile the democratic institutions of the State with the free market policies.
3. ¥ The purpose of the state is not only to preserve the law and order, but also to serve the common interest and perform welfare services.

4. % The welfare state attempted to reconcile the Justice, Equality and Liberty in the Society.

Question Number : 190 Question Id : 5038906530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 191 Question Id : 5038906531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is Positive Liberalism’s justification for the Welfare State?
I. It enhances the liberty and autonomy of the individual.
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I1. it brings more equality among the varipus classes.
III. It provides Social justice.

Choose the correct with the Code given below:
Options :

1. % Only I and II

2. % Only II and III

3. % Only I and III

4. 1,11 and 111
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Question Number : 191 Question Id : 5038906531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 192 Question Id : 5038906532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first political scientist who discussed the nature and causes of political disorder?
Options :

1. # Plato

2. % Socrates

3. ¥ Aristotle

4. ¥ Democritus
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Question Number : 192 Question Id : SD38906532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 193 Question Id : 5038906533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not correct about Political Violence?

Options :

1. # Political violence is a collective violent action of a group of people against the government to highlight its discontent.

2. % It may be a protest against a particular policy of the government, or be used to remove a particular government from power.
3. # Political violence is directed against the state, its property and men who manage its institutions.

4. ¥ Political violence begins with civil war and rioting or mass demonstrations.

Question Number : 193 Question Id : 5038906533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 194 Question Id : 5038906534 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these states are facing secessionist movements in India?
1. Nagaland

2. Manipur

3. Assam

Options :

1. % Only 1

2. % Only 2
3. % Only 3
4.% 1,2and 3

Question Number : 194 Question Id : 5038906534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 195 Question Id : 5038906535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a form of political violence?
1. Violent protests by the people against the government.
2. Terrorism

3. Military revolts and take overs

Options :
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Question Number : 195 Question Id : 5038906535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfIfEad & ¥ oI Joifdd G691 &1 T U 8 82
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3. 99 fagig SR UgUR T
Options :

1. % $ad |

2. % Had 2

3. % $Hdd 3

4.9 1,233

Question Number : 196 Question Id : 5038906536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider following statements about War

I. War is the culmination of political violence in the sense that war brings forth two contending forces face to face with each other and settles the
issue on the basis of balance of armed forces.

II. There are two types of wars: 1) war with the external enemy of the country and 2) internal war, which takes place between the state forces and
the rebels (civil war).

Which of these statements is/are correct?

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II
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Question Number : 196 Question Id : 538906536 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ [ 3RS
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Question Number : 197 Question Id : 5038906537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider following statements about Phases of Revolution
I. The first phase of revolution is the socialist phase.
II. The second phase of revolution is the classical phase.

Which of these statements is/are correct?
Options :

1. % Only I

2. % Only II

3. # Both I and Il

4. ¥ Neither I nor II

Question Number : 197 Question Id : 5038906537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bhad |
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Question Number : 198 Question Id : 5038906538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following redefined caste in such a way that it ceased to be determined solely by birth?
Options :

1. ¥ Dayanand Saraswati

2. # Raja Rammohun Roy

3. # Keshab Chandra Sen

4. ® Surendranath Banerjee

Question Number : 198 Question Id : 5038906538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TG TRl

2. % S IAHHAGA I

3. % PG Ag I

4. % GIGATY SOl

Question Number : 199 Question Id : 5038906539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
In contemporary historiography, 'the Moderate' phase begins with the formation of the Indian National Congress in

Options :
1. % 1865
2. % 1875
3. ¥ 1885
4. % 1895

Question Number : 199 Question Id : 5038906539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 1865

2. % 1875

3.9 1885

4. % 1895

Question Number : 200 Question Id : 5038906540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1893, who transformed the traditional religious Ganapati festival into a campaign for nationalist ideas through patriotic songs and speeches?
Options :

1. # Lala Lajpat Rai

2. ¥ Bal Gangadhar Tilak

3. # Bipin Chandra Pal

4. % Bal Thackeray

Question Number : 200 Question Id : 5038906540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 201 Question Id : 5p38906541 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider following statements about the 1907 Surat Split?

I. From 1901 to 1904, the struggle between various trends within the nationalist articulation of freedom struggle was fought out also at the annual
sessions of the Congress, culminating in the Surat split of December, 1907.

II. The flashpoint was the 1905 Bengal partition that appeared to have enabled the Extremists to provide a sharp critique of the Moderate
strategies that miserably failed.

Which of these statements is/are correct?
Options :

1. % Only I

2. % Only II

3. # BothIand II

4. ¥ Neither I nor II

Question Number : 201 Question Id : 5038906541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. ¥ Had Il

3. % [ 3R 1Ml

4. % A1 RAB I

Question Number : 202 Question Id : 5038906542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following statements is not gorrect about renaissance of Hinduism and the role of Sri Ramakrishna mission?

QOptions
r

1. ¥ It was established by Swami Vivekananda in 1887
2. % 1t was named after his teacher Sri Ramakrishna Paramahamsa.

3. ¥ He wanted to find a new path of progress for Hinduism because he was not happy with the reform movements as they were imitations of the
western methods.

4. ® For Vivekananda the Ramakrishna Mission should stand for selfless service of the people for reawakening of the spirit of India.

Question Number : 202 Question Id : 5038906542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 203 Question Id : 5038906543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The second school of Hindutva or Hindu nationalism was expounded by the leaders of the RSS. The RSS was established by Dr. Keshav Baliram
Hedgewar in

Options :
1. % 1921
2. ¥ 1925
3. % 1930
4. % 1932

Question Number : 203 Question Id : 5038906543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1921
2. ¥ 1925
3. % 1930
4. % 1932

Question Number : 204 Question Id : 5038906544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements regarding Ethnic States in India:

1. In 1970 an ‘autonomous state’ of Meghalaya was created with the autonomous tribal districts of United Khas-Jaintia Hills and Garo Hills.

2. In 1970, through the North Eastern Areas Reorganisation Act, 1970, Meghalaya was promoted to the status of a full state with some non-tribal
areas joined with it.

3. In the year 2001 three new states were created: Chhattisgarh, carved out of Madhya Pradesh, Jharkhand carved out of Bihar and Uttaranchal
carved out of Uttar Pradesh.

Which of the above statements is correct?
Options :

1. ¥ Only 1

2. % Only 1 and 3

3. % Only2and 3

4. % 1,2, 3 are all correct.

Question Number : 204 Question Id : 5038906544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
|« dd |

2. % Pad 1 3R 3
3. % Had 2 3R 3
4. % 1,2, 3991 T8 g1

Question Number : 205 Question Id : 5038906545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following regarding the era of Congress dominance in India.

1. Till the fourth general elections which were held in 1967 state party system in India, like that of the national party system, was dominated by
the overwhelming presence of the Congress Party.

2. The Congress, for example, had to face the toughest competition in the former princely states that acceded to the Indian Union after 1947
whereas in other states it almost had an impeccable hegemony.

3. Kerala was also an exception because in the second general elections in 1957, the CPI emerged victorious and formed a government along
with its allies for two years till it was dissolved arbitrarily in 1959.

Options :

1. # Only 1 is correct.

2. % Only 2 is correct.

3. ® Both 1 and 2 are correct.
4.4 1,2, and 3 are all correct.

Question Number : 205 Question Id : 5038906545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 206 Question Id : 5038906546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements regarding the Bhoodan Movement.

1. Bhoodan {land-gift} Movement was launched in April 1951 by Ram Krishna Paramhansa.

2. It started in Pochampali village in the Telangana region of Andhra. The choice of Telangna was significant because that area still felt
reverberation of the armed peasant revolt led by the Communist Party of India.

Which of the above statements is correct?
Options :

1. % Only 1

2. ¥ Only 2

3. % Both 1 and 2

4. ® Neither 1 nor 2

Question Number : 206 Question Id : 5038906546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % A1 3RAE 2
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038906547 Question Type : MCQ Option Shuffling : Yes

Orientation : Verti.cal

Correct Marks : 1 Wrong Marks : 0.25
During the Green Revolution, which organisation was set up in 1965?
Options :

1. # UP Agricultural Association

2. % Rural and Urban Agricultural Commission of India

3. % Central Government Commission of Agriculture

4. ¥ Agriculture Prices Commission

Question Number : 207 Question Id : 5038906547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gUl $iYy Iy

2. % YRA b ATHT 3R e B SRT

3. % 6 WNRBR S AT

4. ¥ N G AN

Question Number : 208 Question Id : 5038906548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements regarding assertion of Backward Classes in North India.

1. The credit to mobilise the backward castes in north India during the post-independence period actually goes to Charan Singh.

2. Backward classes formed an important section in the Janata Party. Issues of backward classes, rural sector and agriculture got special focus of
the Janata Party government during 1977- 1980.

3 One result of the backward castes’ assertion was appointment of Shastri Commission, for identifying the backward classes.

Which of the above statements is correct?
Options :
1. % Only 1
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2. % Both 1 and 2
3 % RBoth?2and?3

4. % Only 2

Question Number : 208 Question Id : 5038906548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $ad 1|

2. ¢ 1 3R 2EH

3. % 2 3R 3aHN

4. % $Had 2

Question Number : 209 Question Id : 5038906549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 1992 Cauvery Water dispute was between which of the following States?
Options :

1. ® Tamil Nadu and Andhra Pradesh

2. % Karnataka and Andhra Pradesh

3. ¥ Karantaka and Tamil Nadu

4. ® Kerala and Karnataka

Question Number : 209 Question Id : 5038906549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 210 Question Id : 5038906550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements.
I. SAARC was formed in the year 1985.
IT1. SAARC consists of 7 members — Afghanistan, Pakistan, Bhutan, Bangladesh, India, Nepal and Sri Lanka.

Which of the following options is correct?
Options :

1. ¥ Only I

2. % Only II

3. #% Both I and II

4. ® Neither I nor II

Question Number : 210 Question Id : 5038906550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 211 Question Id : 5038906551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct about BIMSTEC?

1. BIMSTEC is a sub-regional economic grouping involving Bangladesh, India, Myanmar, Sri Lanka and Thailand.
2. It was established in the year 1998.

3.In 2001, BIMSTEC Meeting took place in New Delhi.

Options :

1. % Only 1

2. % Both 1 and 2
3. % Both 1 and 3
4. ® Only 3

Question Number : 211 Question Id : 5038906551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa & § & 9 Y9 (BIMSTEC I1 faRie®) & IR & U8 82

. e te Su-aeiy onfifer g & Frw sivaresr, HRd, ®iHR, Sfieier 3R Ugds i 8|
2. 3! R I 1998 T g5 2|

3.2001 §, 73 foeeht & fomad s &t 93& g3

Options :

1. % $Had |
2. ¢ 1 3R 23
3. % 1 3R 3 gHf
4. % $Had 3

Question Number : 212 Question Id : 5038906552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Consider the following statement about Ijdia’s foreign policy making and Ministry of External Affairs.
1. The work of M.E.A. is divided into 24 divisions.

2. To gather foreign intelligence there 1s a special agency called Research and Analysis Wing (RAW) of the Cabinet Secretariat.
3. The L.E.S. officials are sent abroad to man the Embassies in different foreign capitals. Besides other functions, the embassies actually act as the
official centres for collecting information on developments in the foreign countries

Which of the above statements are correct?
Options :

1. % Only 2

2. % Both 1 and 2

3. % Both 1and 3

4. ¥ All of the other options

Question Number : 212 Question Id : 5038906552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fafafea d o T sy 98 82
Options :

1. % PHad 2

2. % 1 3R 2EH

3. % 1 3R 3

4. ¢ g g4t fadey

Question Number : 213 Question Id : 5038906553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statement about Indo-Soviet Relations.
1. India’s relations with the Soviet Union during the early years of its liberation from the British Raj were very cordial. In fact, prime minister
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Jawaharlal Nehru was supportive of the Spviet Union from the beginning.
2. In 1956 when, during a visit to India, Spviet leaders Nikolai Bulganin and Alexei Kosygin referred fo Jammu and Kashmir as an integral part

of India.
3. India voted with the Soviet Union in 1956 in the UN General Assembly, on the resolution calling for democratic elections in Hungary which
was then under Soviet occupation.

Which of the following statements are correct?
Options :

1. % Only 2 and 3

2. % 1,2and3

3. % Only 1 and 3

4. % All of the other options

Question Number : 213 Question Id : 5038906553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA-HIfGgd Yaitll & IR H FHafeiied Byl IR faaR S|

1. ffesr oo @ gfea & uRfYe auf & SRE Dfad T & 1Y YR S Ja¢ 9gd Aereyul 3| Idd B, TUH Saexdd 1 = 3
foTd dg & JHdS U

2. 1956 T IF YRd &1 AHT & SR Qad Aarsil Hdiars gam-- SR Tt SR - STHL-HIHR B R &1 ST 3T Il

3. W%sgﬁﬁgﬁﬁﬂgﬂgﬁWﬁ@ﬁﬂﬁﬁﬂ%Wﬁéﬁﬁ AlbdifAD FATdl BT STEH DR dlel UdTd WR TG fhaT, Sl 39 I07g
Tifaad Y|

fofefed & ¥ oH T Hy=T 98 82
Options :

1. ¥ $ad2 3R 3

2. % 1,23k 3

3. % Had 1 3R 3

4. % =g gyt lddea

Question Number : 214 Question Id : 5038906554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For Jeremy Bentham, which of the following is the source of Law?
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Options :

1w Sovereign

2. ® King
3. # People
4. ® Nature

Question Number : 214 Question Id : 5038906554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S §yH & forg, fgfafad § 9 & & &1 9id /2
Options :

1. ¢ UYa-gud

2. % oIl

3. % QN

4. % Uopid

Question Number : 215 Question Id : 5038906555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Article of the UN Charter provides for the participation of NGOs, on a consultative basis, in the work of Economic and Social Council?
Options :

1. # Article 34

2. ® Article 32

3. % Article 79

4. ¥ Article 71

Question Number : 215 Question Id : 5038906555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TP TR BT DI T SHTDG AT 3R FHISTD UREE P BRI H TRIARI YR TR IR IRBRI TS BT HFGRY BT UG BT

8?
Options :
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Question Number : 216 Question Id : 5038906556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places was the UN Convention on Human Environment held from 5 to 16 June 1972 which adopted a Declaration on
Human Environment?

Options :

1. ® Geneva

2. ¥ Stockholm
3. ® Paris

4. % Perth

Question Number : 216 Question Id : 5038906556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied H 9 fovd ®IM TR 5 9 16 S 1972 1 A4 YATaRUN TR S MY FHe ST fohar 711 o1 o HId gaiarur iR Teb °Iyon
D1 YT TR YT?
Options :

1. % foMar
2. ¥ WibeH
3. % i
4. % g

Question Number : 217 Question Id : 5038906557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following statements regarding Mahatma Gandhi’s role in South Africa.
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1. By the time Gandhi arrived in South Africa in 1893, simmering discontent and resentment was wid¢spread among the Indian immigrants there.
2. He founded a newspaper, Indian View, fand systematically corresponded with sympathetic leaders bpth in Britain and India for the redress of

grievances of Indians in South Africa.
3. Gandhi carried out the heroic Satyagraha movement in South Africa for six years (1907-13).

Choose the correct out of the above statements?
Options :

1. ® Both 1 and 2

2. % Both 1 and 3

3. % Both 2 and 3

4. % Only 1

Question Number : 217 Question Id : 5038906557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G107 3pihT | Tt e &1 YHeT & oy o FafaRdd =i R foarR &1

1. 1893 T 79 TTieR SfErr SpiesT Uga, dd b dgt & HRGIT Ul H Tddh SR 3R SAThIT ST T |

2. 3811 Th JHMR U, ST I B RITIHT BT, 3R ST 3Mpieh] H HRTIA! &1 RIS & FaRor & i fore 3R YR g1 o
TeTgHfqul Adrsii & I ARG =0 ¥ TH-AdeR bl

3. el A G 3ThihT H 8 TId (1907-13) dh TAE 3MaId- Iard|

SWRITd HYAI H T el Bl Tgd B2
Options :

1. % 1 3R 2!

2. 1 3R 3 gl

3. % 2 3R 3 GHl

4. % $Had |

Question Number : 218 Question Id : 5038906558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following political philosopher stated that "Justice implies something which it is not only right to do and wrong not to do; but which
some individual person can claim from us as his moral right"?
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bn, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.

Options :

1. Jean Bodin

2. Thomas Cajetan
3. John Calvin

4. James Mill

Question Number : 218 Question Id : 5038906558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 o Ierifae S=ifFe A H81 Ul i =arg &1 a1 39 Tl A g o 31 7 Had Tel 8, 3R 9 B 7dd g, 9fch 98 §
S Afad gAY U4 Afde YR & =4 H a1 HR Jhdl "2

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. ST Sifga
2. YTHY FHoled
3. S Pfedd
4. 5wy it

Question Number : 219 Question Id : 5038906559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The nineteenth century German philosopher Friedrich Nietzsche was one of those who glorified

Options :

1. # Equality of everyone
2. #® Diplomacy and talks

3. ¥ Peace


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. ¥ War

Question Number : 219 Question Id : 5038906559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬂﬁ&%wmm:ﬂ@(ﬁiedﬁch Nietzsche)ﬁ?ﬁ"ﬁﬁ@@ aﬁ%ﬁe{ ao‘mi%ﬂmstr%ml

Options :

1. % ol M
2. % Feifd 3R ardi
3. % Q=

4. v Jg

Question Number : 220 Question Id : 5038906560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the ‘All Party Hill Leaders Conference’ formed in the North-east?
Options :

1. ¥ 1960

2. % 1961

3. % 1962

4. % 1963

Question Number : 220 Question Id : 5038906560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SWR-Gd H '3 UIel fgd ey ®15ha &1 716+ fovd ay foeam a1 U2
Options :

1. ¥ 1960

2. % 1961

3. % 1962

4. % 1963
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Question Number : 221 Question Id : 5038906561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In politics and administration, the law concerning sodomy has advanced from the 13th century British court to the Indian subcontinent and has

been challenged recently with the Delhi High Court’s verdict to read down

Options :
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. % Section 327 of the Indian Penal Code

!\)>—

£ 41 1

Q 4o 244 1. n 1
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. % Section 377 of the Indian Penal Code
. % Section 370 of the Indian Penal Code

now

Question Number : 221 Question Id : 5038906561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI SR TR B, FeIe ([e1-Ay) ¥ it w1391 wdreat & fafewr =amaraa ¥ URda SueTgiu § o 91 § SR gTa gt o
faeeht S e g DI g b B A 34 AT Sl B

Options :

1. % YR <8 Tl Bl YRT 327

2. % YR &8 igdl Bl URT 344

3. ¥ URAIT &8 dfgdl &t URT377

4. % YR &8 Higdl &I YR 370

Question Number : 222 Question Id : 5038906562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The Love That Dare Not Speak Its Name” was quoted by which of these famous personalities during their trial for “posing as a homosexual?
Options :

1. % Oscar Wilde

2. # Radclyffe Hall

3. # Ismat Chughtai

4. % John Clum

Question Number : 222 Question Id : 5038906562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" A9 ¢ SR Ale Wi 3eq A0 &1 370 ¥ fry URTg afdda 3 wafiies & =0 § TRgd A" & ol 310 heh & SR Igyd fobar
Yr?
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Options :
1 I s

2. % YSfeaw gid
3. % A TS

4. % 9 99

Question Number : 223 Question Id : 5038906563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Ken Saro-Wiwa lead a non-violent struggle with the launch of the Movement for the Survival of the Ogoni People (MOSOP)?
Options :

1. # 1978

2. % 1988

3. % 1985

4. % 1990

Question Number : 223 Question Id : 5038906563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬁaﬁmﬁmaﬁﬁnﬁﬂ?uﬁasﬁﬁ:ﬂtﬂwmﬂﬁﬁ.w.eﬁ.ﬁ A AP STGI DI YB3MTd IR TP Hedd ay &I Add
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Options :

1. % 1978

2. % 1988

3. % 1985

4.9 1990

Question Number : 224 Question Id : 5038906564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was the second general election held in India?
Options :
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1. ¥ 1956
2 _# 1055

3. % 1954
4. ¥ 1957

Question Number : 224 Question Id : 5038906564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA § GIRT 31 A9 [ a9 gamm U
Options :
1. # 1956
2. %1955
3. % 1954
4. ¥ 1957

Question Number : 225 Question Id : 5038906565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defined public policy as “public policy is an action which employs governmental authority to commit resources in support of a preferred
value”?

Options :

1. ¥ Considine

2. % John Stuart Mill
3. #¥ Hobbes

4. % Rousseau

Question Number : 225 Question Id : 5038906565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o e Hifa (ufere urfertdh) o1 39 @Re ¥ uRyia fosar &t el ifd ve Ut 3iftert & = u H uRyIfSa fasar S gedr g s GReR!
TR BT UHdIal Hed & 9T H Ta1eH] & uides &3 & fag fHaiford &t g2

Options :
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Question Number : 226 Question Id : 5038906566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Centre of Indian Trade Unions (C.I.T.U.) was born due to the split of
Options :

1. # Indian Federation of Labour (I.F.L)

2. #® Hind Mazdoor Sabha (H.M.S.)

3. % All India Trade Union Congress (A.L.T.U.C.)

4. ® Radical Democratic Party

Question Number : 226 Question Id : 5038906566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR <8 AT & b (1.311%.21.9,) BT TH & FQUTS & HRUT g3 T -
Options :

1. % 3T TSR 3t oeR (3HTS.UH.Tel.)

2. % f3Q AOIER 9T (TA.TH.UH,)

3. ¢ 3T ST ¢S YA BN (U375, TG HT.)

4. % ASHa sHiobicd urel

Question Number : 227 Question Id : 5038906567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider following statements on the New Economic Policy of 1991

I. Liberalisation has meant reduction of government control over the private sector, as a result, the bargaining position of the workers vis-a- vis
capitalist has declined.

II. The policies of privatisation under which several important public sector units in the country is being sold to private companies had opened up
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new challenges for the workers and the trade unions in the country.

Which of these statements 1s/are correct?
Options :

1. % Only I

2. % Only II

3. % BothIand II

4. ¥ Neither I nor II

Question Number : 227 Question Id : 5038906567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ [ 3RS

4. % A RAGIL

Question Number : 228 Question Id : 5038906568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider following statements about Agrarian movements in contemporary India

I. The first type of movements is of the more prosperous peasants, those who produce a considerable surplus within the rural economy. These
movements are often in social science literature referred to as 'Farmers' Movement'

II. The second type of movements is those of the poor, the marginal or small peasants. These movements voice the demands related to their
economic condition.

Which of these statements is/are correct?

Options :
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1. % Only I
2 Qnly 11

3. ¥ BothIand II
4. % Neither I nor II

Question Number : 228 Question Id : 5038906568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ®Had |

2. % Had I

3. % [ 3R 11 G

4. ¢ FATARABI

Question Number : 229 Question Id : 5038906569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these committees were set up in 1988 to suggest the type of political and administrative structure in district for district planning?
Options :

1. ¥ The P.K. Thungon Committee

2. % GVK Rao Committee

3. # Ashok Mehta Committee

4. ® L. M. Singhvi Committee

Question Number : 229 Question Id : 5038906569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Ul.oh. Y Affa
2. ® Siidld 19 AAfd
3. % 3=Mep Hgdl IrHfd
4. % Uq.uy. Rgdt 9

Question Number : 230 Question Id : 5038906570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Congress amend its constitution to prevent its members from having a dual party membership?
Options :

1. ¥ 1936

2. % 1934

3.9 1948

4. % 1951

Question Number : 230 Question Id : 5038906570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford auf B B 7 U Wi & eera foar a1 HIE & TaR GIes! Yawidl 7 UR0 3R Tdb?
Options :

1. ¥ 1936

2. % 1934

3.9 1948

4. ® 1951

Question Number : 231 Question Id : 5038906571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements regarding Politics and Society of West Asia.
I. Broadly speaking, there are four distinct ethno-cultural entities in the region, namely, the Turks, Persians, Arabs and Israelis.
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II. The ancient Silk Route, which connectied China with the European markets, passed through this region. India was also linked to this trade
route.

Which of the following statements is/are correct?
Options :

1. % Only 1

2. % Only II

3. % Both I and II

4. ® Neither I nor II

Question Number : 231 Question Id : 5038906571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHad |

2. % Had Il

3. ¢ [ 3RS

4. % A 1RAG I

Question Number : 232 Question Id : 5038906572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Odisha, the POSCO-India steel plant in Jagatsinghpur district had faced lots of protests by the local people. Which country does POSCO
actually belong to?

Options :
1. # USA
2. % Japan
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3. % South Korea
4 ¥ Thailand

Question Number : 232 Question Id : 5038906572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ%ﬁm;,wﬁggvﬁﬁﬁﬁaﬁé%m@awﬁaﬁaﬁnﬁma@aﬁﬁﬂmwwl BT ST UT| U] ardd | fobd o=1 9
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Options :

1. % 3o

2. % QU

3. ¢ SR IR

4. % YRS

Question Number : 233 Question Id : 5038906573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct time period of the Cold War?
Options :

1. % 1930-70

2. ¥ 1945-90

3. % 1950-70

4. % 1980-2000

Question Number : 233 Question Id : 5038906573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 & ¥ o 2 g &1 9e THaay 82
Options :

1. # 1930-70

2. ¥ 1945-90
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3. ¥ 1950-70
4_% 1980-2000

Question Number : 234 Question Id : 5038906574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements regarding Indo- Pakistan relations.

I. India took the matter to the United Nations and agreed to hold a plebiscite in Kashmir to ascertain the wishes of the Kashmiris.
II. The Jaladhar Agreement of 1972 formalized the emergent situation on Kashmir.

II1. In 1999 India and Pakistan came into conflict over an intrusion by Pakistan into Kargil.

Which of the following statements is correct?
Options :

1. % Only I and III

2. % Only II and III

3. % Only III

4. % Only II

Question Number : 234 Question Id : 5038906574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA-UTfh & et & ey H Fferiad Byl IR {darR &1

I. HIRd 9 {1 TGS 1P H o 7T SR HRAINT B 33131 BT a1 TR o o8 SRR H S-Hd SUE PR R FgHd gofl|
1. 1972 & STeMER A HER R IHRcH U BT fi=ies =y fea|

111. 1999 H HRATA H Ui e gRT GUS Pl bR HRA 31R UTfehd & sid gy g3l

oferiRad Syt § ¥ SIH-91 et 82
Options :

1. ¢ Pad [ 3R 11

2. % Had 11 3R 111

3. % Had I

4. % HAA I
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Question Number : 235 Question Id : 5038906575 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Theory of Surplus Value is another characteristic of
Options :

1. ¥ Marxism

2. % Liberalism

3. # Swaraj

4. ® Gandhism

Question Number : 235 Question Id : 5038906575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T HIRIGd 31 T o faQdmar g
Options :

1. ¢ HedTg

2. % JqRdlq

3. % ORI

4. % Tigfiarg

Question Number : 236 Question Id : 5038906576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements regarding India’s disarmament policy.

I. In 1954 India proposed an immediate suspension of all testing of nuclear weapons, pending the achievement of a comprehensive nuclear
weapons test ban.

II. In 1964 India suggested that in order to really solve the problem of proliferation of nuclear weapons, both vertical and horizontal proliferation
of weapons should be stopped simultaneously and together within the framework of the same international treaty.

Which of the above statements is/are correct?

Options :

1. # Only II

2. % Only I

3. #% Both I and II
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4. % Neither I nor II

Question Number : 236 Question Id : 5038906576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BHad I

2. % PHadl

3. % [ 3R 1Ml

4. TAIMRAE I

Question Number : 237 Question Id : 5038906577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was CTBT (Comprehensive Test Ban Treaty) signed?
Options :

1. % 1998

2. ¥ 1996

3. % 1997

4. % 1990

Question Number : 237 Question Id : 5038906577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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1. ¥ 1998
2 % 1004

3. % 1997
4. % 1990

Question Number : 238 Question Id : 5038906578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1927, Nehru attended the Congress of Oppressed Peoples where he met nationalist leaders from several other countries. Where was this
Congress held?

Options :

1. #® Ottawa

2. % Moscow

3. ¥ Amsterdam
4. + Brussels

Question Number : 238 Question Id : 5038906578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3fieral

2. % HRBI

3. % TRCSH

4. g

Question Number : 239 Question Id : 5038906579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Egyptian decision to nationalise the Suez Canal in July 1956 led to a serious crisis involving the use of force by various countries. Which of
these is not one of them?
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Options :
1.+ Iran

2. % Israel
3. ¥ Britain
4. % France

Question Number : 239 Question Id : 5038906579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ A

2. % goRIgd

3. % fgeq

4. % 1Y

Question Number : 240 Question Id : 5038906580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the basic reason behind the evolution of Marxist theory?
Options :

1. ¥ Adverse effects of capitalism during 17-18th century

2. # To motivate general public for independence revolution

3. # To prepare constitution of country

4. ® To support a particular religion

Question Number : 240 Question Id : 5038906580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 241 Question Id : 5038906581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not correct about Vietnam War?
Options :
1. ¥ The Geneva Agreement of 1944 confirmed the exit of French from the whole of Indo-China.

2. % The elections that were to be held in the two parts in 1956 were never held. Instead, the war began which lasted almost twenty years and
finally led to the creation of one unified Vietnam under the communist rule.

3. ¥ While North Vietnam was helped by the Soviet Union, it was mainly the American intervention that made the Vietnam War different from
other wars between the two neighbours.

4. % By 1963, America got more deeply involved in South Vietnam. In 1964 the first bombing raid was made over North Vietnam, which soon
became a regular feature for the Vietnam War.

Question Number : 241 Question Id : 5038906581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faua ™ gg & IR # FAufafed # § &9 91wy 98 761 82

Options :

1. ¢ 1944 & fSHa1 GHENd A R HRA-AH G SI-a18N) ¥ Wik & dTeR e o1 g &1 |

2. % 1956 T &I YT & §H 9T g9 B 81 §UI S 9o, I & g1 Sil QI o9 9 ddb aaT MR ofd § HIgfHve TR & dad
T Ubiepdl faTa-TH 1 A0 g

3. % Sfdfoh IURI fAga-H &1 Waad ¥4 gRI Aee &1 Ts oY, 98 oI TU 9 SHRD! gwaay Ul for faga=™ 4 @ &l UsIREl & o
3T GGl ¥ 3T &1 fea|

4. % 1963 TP, ARG S foua—m & iR 31w MevTs ¥ M 1 1| 1964 H IR faTa-H IR Ugelt SHARI &1 718, Sl Sieg &l
fqgd™ gg o fore v Faftid foRivdr s9 1= |

Question Number : 242 Question Id : 5038906582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The United States, Canada and Britain signed the Quebec agreement in
Options :

1. % 1940

2.9 1943

3. % 1946
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4. % 1949

Question Number : 242 Question Id : 5038906582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o4 SARET, HATST 3R fye 3 o TP I IR gEER fHhu|
Options :

1. % 1940

2.¥ 1943

3. % 1946

4. % 1949

Question Number : 243 Question Id : 5038906583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Soviet Union entered the nuclear field with its first explosion in
Options :

1. % 1945

2. % 1947

3. % 1949

4. # 1951

Question Number : 243 Question Id : 5038906583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1945

2. % 1947

3. %1949

4. % 1951
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Question Number : 244 Question Id : §

38906584 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The International Atomic Energy Agency (IAEA) came to be established in

Options :
1. % 1955
2. ¥ 1957
3. % 1959
4. % 1961

GET IT ON

Google Play

Is Question Mandatory : No Option

Question Number : 244 Question Id : 5038906584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RIS TRHTY Soif TOIt (IAEA) Bt RITGT Hgg i

Options :
1. % 1955
2. ¥ 1957
3. % 1959
4. % 1961

Question Number : 245 Question Id : 5038906585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement/s is/are weakness of liberalism?

1. On the one hand, it unfurls the flag of liberty, and on the other, it argues for equality.

2. On the one hand,it works, within the framework of market society, it promises equal opportunities to all.

Options :

1. % 1 only

2. % 2 only

3.+ Both 1 and 2
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4. ® Neither 1 nor 2

Question Number : 245 Question Id : 5038906585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. T TR dl Tg TR YT THS & &id H BTH BT & 3R GIRT TR D] A IR D1 181 Hdl &
Options :

1. % Had |

2. % Had 2

3. ¢ 1 3R 2 3T
4. %A 172

Question Number : 246 Question Id : 5038906586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Match the following:
List I List IT
A | Partial Test Ban Treaty 1. [ 1963
B. | Peaceful Nuclear Explosions 2. 11974
Treaty
C. | Threshold Test Ban Treaty 3. |F976
D. | Comprehensive Test Ban Treatv. | 4. | 1996

Options :

1. % A2,B3,C4,D.1
2. % A4,B3,C.1,D2
3.9 A1,B3,C2,D4
4. % A1,B2,C3,D4
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Question Number : 246 Question Id : 5038906586 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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B. QWWW@ 2. | 1974
C. | sadrulrator gidesr §ier 3. | 1976
D. | carues gitator gidde gier 4. | 1396
Options :

1. % A2,B3,C4,D.1
2. % A4,B3,C.1,D.2
3. A.1,B3,C2,D4
4. % A1,B.2,C3,D4
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[s Question Mandatory : No Option

Question Number : 247 Question Id : 5038906587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Afghanistan join SAARC?
Options :

1. ¥ 2007

2. % 2008

3. % 2009

4. % 2010

Question Number : 247 Question Id : 5038906587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT fohe a8 wreh § 2fia gam

Options :
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1. ¥ 2007
2% 2008

3. % 2009
4. % 2010

Question Number : 248 Question Id : 5038906588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, an English scholar of Political Science once wrote: “It (liberalism) is not easy to describe, much less to define, for it is hardly less a
habit of mind than a body of doctrine”.

Options :

1. ® John Locke

2. ¥ Harold Laski

3. ¥ Moses Maimonides

4. % Thomas Aquinas

Question Number : 248 Question Id : 5038906588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S dld

2. ¥ ERICS ARG
3. % OOY dEey
4. % YOy U™

Question Number : 249 Question Id : 5038906589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word “justice” is derived from the Latin words
Options :
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1. ¥ Jungere and Jus

2 % Tystinian

3. ¥ Judicature
4. % Jestes

Question Number : 249 Question Id : 5038906589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Seq” Teq Afe Wog q e T B
Options :

1. ¢ T{Fﬁ' 3R o1 (Jungere and Jus)

2. % SR (Justinian)

3. % W(Judieature)

4, ® a@ﬂ(JesteS)

Question Number : 250 Question Id : 5038906590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Towards the end of which decade did the Election Commision start using EVMs for voting?
Options :

1. % 70s

2. % 80s

3. % 90s

4. % 60s

Question Number : 250 Question Id : 5038906590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o] G=1% & 3id B 1T ST A HAGH & folU SATTH BT ITART BT Y& [T

Options :
1. % 70 & G¥H
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2. % 80 H CID

3 £ 90 5 2T

4. % 60 P D

Question Number : 251 Question Id : 5038906591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Swatantra Party formed?
Options :

1. # 1957

2.9 1959

3. % 1961

4. % 1963

Question Number : 251 Question Id : 5038906591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i3l uret &1 713 forg o foba Tram umo
Options :
1. ¥ 1957
2. ¥ 1959
3. % 1961
4. % 1963

Question Number : 252 Question Id : 5038906592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements on Gandhian concept of Civil Disobedience and Satyagraha is not true?

Options :

1. #® Gandhi called his concept of civil disobedience as the doctrine of ‘Satyagraha’ or ‘Truth Force’.

2. % The adjective ‘civil’ in the phrase ‘civil disobedience’ referred to peaceful, courteous, and a ‘civilised’ resistance.

3. # The concept of passive resistance is inadequate to grasp the full implications of the concept of ‘satyagraha’.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. ¥ Satyagraha, the unique system of viplent resistance to the government’s arbitrary methods and agtions is, indeed, his greatest gift to
mankind

Question Number : 252 Question Id : 5038906592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 253 Question Id : 5038906593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these personalities said “Democratic governments must include an agreement to respect differences of opinion concerning justice and
right”?

Options :

1. # John Rawls

2. ¥ Burton Zwiebach

3. % T.H. Green

4. # Martin Luther King Jr

Question Number : 253 Question Id : 5038906593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S

2. ¢ 91 Sdldd
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Question Number : 254 Question Id : 5038906594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a branch of philosophical thought that has to do with being, nature of reality, and subjectivity or what constitutes
experience and reality?

Options :

1. # Epistemology
2. ¥ Ontology

3. # Axiology

4. ® Ethics

Question Number : 254 Question Id : 5038906594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JrHHE

2. FAHERT

3. % QegdieiEn

4. % Fifd 9y

Question Number : 255 Question Id : 5038906595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Harold Laski’s view on nature of human rights can be represented by which of the following?
I. They are social

II. Rights are never absolute

II1. They are dynamic in nature

IV. They go along with duties
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Options :
. % Only]

2. % Only I and II
3. % Only I, 1l and II
4. Only L, 11, 1 and IV

Question Number : 255 Question Id : 5038906595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AFATISGRI &1 UHfa IR gRIs drat & faaR &t Fafafed § 3 fege gri gxifar s e g2
. 3 graToTe §

1. 3R o+t quf 78t 8l

1. 3 Ugpfa & mfaeha §

IV 3 Saedl & Iy 91d

Options :

1. % Bhad |

2. % HIA [ 3R

3. % B I, 11 3R 11

4. BIAL I, [ 3R 1TV

Question Number : 256 Question Id : 5038906596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Equality is defined as “abolition of classes and equal social status for all.” This definition of equality is defined in which of the following?
Options :

1. ¥ Marxist Leninist philosophy

2. # Rosa Luxemburg philosophy

3. % Engel's Philosophy

4. ® Martin luther king’s philosophy

Question Number : 256 Question Id : 5038906596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ATRIAIS] dfdaTe! g’
2. % ol AFoTHE G-

3. % U &’

4. % HIET R fob71 1 A

Question Number : 257 Question Id : 5038906597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Correctly match the civil disobediences with their practiced field-

A | Nuclear disarmament campaign 1. | Western Europe
B. | Non violent demonstration 2. | Poland
C. | Vorkuta prison uprising 3. | Soviet Union
D. | Danilo’s strike 4. | Sicily

Options :

1. # 1-B, 2-C, 3-D, 4-A
2. ¥ 1-A, 2-B, 3-C, 4-D
3. ¥ 1-B, 2-D, 3-C, 4-A
4. % 1-A,2-B, 3-D, 4-C

Question Number : 257 Question Id : 5038906597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A a3 1 3P &3 § el [ He-
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ATV R AT I | af¥gefrgim
Bt oot 2l | orfs
C. | dReper Ster faals 3. | |ifdaadEy
D. | sfaar Frgsdrer 4. | T
Options :

1. # 1-B, 2-C, 3-D, 4-A
2.¥ 1-A,2-B, 3-C, 4-D
3. % 1-B, 2-D, 3-C, 4-A
4. % 1-A,2-B, 3-D, 4-C

Question Number : 258 Question Id : 5038906598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following was not a communist leader of India?
Options :

1. # S. A. Dange

2. ¥ S P Mukherjee

3. # A K Gopalan

4. % P C Joshi

Question Number : 258 Question Id : 5038906598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed @ 3 S YRd & Arar! Hal Tel 97
Options :

1. % TgUSH

2. ¢ T U gl

3. % T MU

4. % Ut It oneht
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Question Number : 259 Question Id : 5038906599 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach is not suggested by Dworkin and Weldron for observing our conscious practices?
Options :

1. # Right based

2. #® Duty based

3. ¥ Procedure based

4. % Goal based

Question Number : 259 Question Id : 5038906599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St SR degH - THR oid ST B o o 1T DI T VDI Aol G 52
Options :

1. % 3MfYDR YR

2. % A YR

3. ¢ Yichan TuTRd

4. % &g 3T

Question Number : 260 Question Id : 5038906600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marx borrowed his dialectical method from which of the following?
Options :

1. ¥ Hegel

2. % VI. Lenin

3. # Milton Freidman

4. % Antonio Gramsci

Question Number : 260 Question Id : 5038906600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 5038906601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said that- “No society can possibly be built on the denial of individual freedom.”?
Options :

1. # Karl Marx

2. ¥ M.K. Gandhi

3. % John rawls

4. ® Harold Lasky

Question Number : 261 Question Id : 5038906601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foram g1 T 35 "fGaTd WAl & g+ TR U fodl TSl &1 A0 T8t fohan S S g 12
Options :

1. % BHTdl AR

2. ¥ THSD, e

3. % S

4. % BUTS ARBI

Question Number : 262 Question Id : 5038906602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct fact about the Universal Declaration of human rights is-

Options :

1. # It was adopted by “UN economical and social council” on 10th December 1948

2. ¥ It was proclaimed in France on 10th December 1948

3. # Eleanor Roosevelt chaired the UDHR drafting committee

4. % This document is exactly copy of English Magna Carta and American bills of rights
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Question Number : 262 Question Id : 5p38906602 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 263 Question Id : 5038906603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Communist Party abandon the path of violent revolution and decide to participate in the approaching general elections?
Options :

1. ¥ 1951

2. % 1953

3. % 1955

4. % 1956

Question Number : 263 Question Id : 5038906603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore o 7 qrare} urdt A fgae wifd &1 IRl SIS far iR S aTal 3ITH IATE! § YT o BT el fahar
Options :

1. ¥ 1951

2. % 1953

3. % 1955

4. % 1956

Question Number : 264 Question Id : 5038906604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

Which pm'r is not correctlvy matched?

Options :

1. # Harold Lasky - A Grammar Of Politics

2. % Robert Nozick — Anarchy, State And Utopia
3. % John Rawls - Political Liberalism

4. ¢ Ralph Miliband — Justice And Fairness

Question Number : 264 Question Id : 5038906604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 265 Question Id : 5038906605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following described the political philosophy of Plato as intellectual side of Christianity?
Options :

1. ¥ Friedrich Wilhelm Nietzsche

2. # Immanuel Kant

3. % David Hume

4. ® John Rawls

Question Number : 265 Question Id : 5038906605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % Sfag ggH

4. % S

Question Number : 266 Question Id : 5038906606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Antonio Gramsci, dialectics means which of the following?
L. Interaction between the intellectuals (party leaders) and the masses.
II. Explanation of historical developments in terms of thesis, anti-thesis and synthesis.

Options :

1. # Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 266 Question Id : 5038906606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Dl

2. % had Il

3. ¢ 1 3R 11 gF

4. % FA1RA 1

Question Number : 267 Question Id : 5038906607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The Frankfurt School tried to offer a critique of which of the following?
Options :

1. ¥ Orthodox Marxism

2. # Liberalism

3. % Socialism

4. % Conservatism

Question Number : 267 Question Id : 5038906607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thhthe Wpd - FUIRId J ¥ fas! STara-T URgd H3- &1 WA fhar
Options :

1. ¢ Figard! Areidrg

2. % 3aRdlq

3. % gHSAIG

4. % wfearg

Question Number : 268 Question Id : 5038906608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the central concern in the writings of the Frankfurt School?
Options :

1. # Counter-culture

2. % Instrumental rationality

3. % Domination and Authority

4. # Ethics of the State

Question Number : 268 Question Id : 5038906608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 269 Question Id : 5038906609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:
Assertion (A): The social reform movements of the nineteenth century attacked caste system, which was graded into hierarchy of status.

Reason (R): At the bottom of this caste system were placed the untouchables who constituted nearly twenty five per cent of the Hindu population
and suffered the worst form of discrimination.

Options :

1. #® Both (A) and (R) are true and (R) is the correct explanation of (A).

2. ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false

4. ® (A)is false, but (R) is true

Question Number : 269 Question Id : 5038906609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 270 Question Id : 5038906610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following located the Sovereignty in the general will of the people?
Options :

1. #® Jean Bodin

2. % Aristotle

3. ¥ Rousseau

4. ® Thomas Hobbes

Question Number : 270 Question Id : 5038906610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & 9 fba- i &t T S=a1 H JUYd &1 A1 faban
Options :

1. % S qifeA

2. % 3R]

3. ¢ =4I

4. % YAY gisq

Question Number : 271 Question Id : 5038906611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Rawlsian alternative to the utilitarianism was inspired from which of the following political philosophly?
Options :

1. ¥ Thomas Hobbes
2. % Immanuel Kant
3. # Jeremy Bentham
4. % John Locke

Question Number : 271 Question Id : 5038906611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 272 Question Id : 5038906612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:
Assertion (A): Planning Commission formulated the concept of poverty line.

Reason (R): Below this line were people whose consumption especially of food grains, did not come up to a minimum level in terms of calories.
Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A)

3. # (A)is true, but (R) is false.

4. % (A) is false, but (R) is true.
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Question Number : 272 Question Id : 5p38906612 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 1 FYF RRU MU B, T 1 3fHYT (A) 3R GIR B! HRUT (R) HET T &
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Options :

1. % (A) 3R (R) THI I B 3R (R) (A) D! Jgl TrAT & |
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Question Number : 273 Question Id : 5038906613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following:

I. An alternative to both Marxism and Liberalism strands of modern political theory has appeared in the form of post-Modernism.

II. The post-modernists challenge liberalism for its abstract categories - categories like the universal rights of all people and emphasize the rights
of specific groups like women, tribal, blacks and the colonial people etc.

Which of the given statements is/are correct?
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. ® Neither I nor II

Question Number : 273 Question Id : 5038906613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ®Had I

2. % Had I

3. ¢ [ 3R 11 G

4. % FATARAB I

Question Number : 274 Question Id : 5038906614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Nepal become a democratic republic after abolishing the monarchy?
Options :

1. % 2006

2. % 2007

3. ¥ 2008

4. % 2009

Question Number : 274 Question Id : 5038906614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg I8 H AUTel YS-F D1 WH B & §a Alcbdiied TURTSY § 712
Options :

1. % 2006

2. % 2007

3. % 2008

4. % 2009
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Question Number : 275 Question Id : 5038906615 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): The present day welfare state has become what may be called as Maximal State.
Reason (R): It seems that in the wake of liberalization, privatization and globalization, Welfare State may end.

Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. % (A) is true, but (R) is false.

4. # (A)is false, but (R) is true.

Question Number : 275 Question Id : 5038906615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HRUT (R): THT AT & fob SSRIBRUT, FASienvun 3R Jsfipur & SRl HedIuihRT e T 3d 81 Jobell ¢ |

Options :

1. % (A) 3R (R) T TI & 3R (R) (A) F! Yot ARSI 5|

2. % (A) 3R (R) I I &, Afh (R) (A) P! Tg! ARSI T8 B
3. ¢ (A) 9d &, Af (R) 3TA B

4. % (A) 3T g, AfbT (R) TI B

Question Number : 276 Question Id : 5038906616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following termed Plato’s book 'Republic' as a treatise on Education?
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Options :
1. # John Locke

2. % Thomas Hobbes
3.+ ].J. Rousseau

4. % Immanuel Kant

Question Number : 276 Question Id : 5038906616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S dlb

2. % YAy gled

3. ¥ W =4

4. % GHTU PTUC

Question Number : 277 Question Id : 5038906617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following statements and choose the correct ones -
1. The social reformer and educator, Sir Syed Ahmed Khan, founded M.A.O. College.
2. Sir Syed Ahmed Khan was also the first to conceive of a separate Muslim homeland.

Options :

1. # Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 277 Question Id : 5038906617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1|

2. % Had 2

3. ¢ 1 3R 2 &M
4. % A 1ATR2

Question Number : 278 Question Id : 5038906618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect about B. R. Ambedkar?
Options :

1. ¥ He was the founder of Independent Labour Party.

2. % He had founded the Scheduled Castes
Federation

3. # He adopted Buddhism in 1956
4. ¥ He had resigned from the cabinet in 1954 due to differences over the Hindu Code Bill.

Question Number : 278 Question Id : 5038906618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9 3fSUST R Ul o YRS Y

2. % IQi IfeId SIIfd T D RITTAT bl Y
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Question Number : 279 Question Id : 5038906619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Given below are two statements, one labdllled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): According to the neo-liberal critics of the state, Indian state during its existence in the post-Independence period has not been able
to achieve the growth nor has been able to remove the poverty.

Reason (R): The pre-liberalisation phase (pre-1991) was considered by the neo-liberal like Bhagwati as the phase of ‘slow rates of growth and
per capita income’ and as phase of ‘weak performance’ regarding India’s ‘own aspirations’.

Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false.

4. % (A)is false, but (R) is true.

Question Number : 279 Question Id : 5038906619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ (A) 3R (R) GHI I B 3R (R) (A) DI Jgl T g
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3. % (A)9d ®, AfFT (R) T B
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The Gandhian method of resistance called Satyagraha, has been termed as ‘Gandhian dialectic’ by
Options :

1. ¥ Bondurant

2. #® David Bayley

3. # Rajni Kothari

4. ® Robert Nisbet

Question Number : 280 Question Id : 5038906620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 281 Question Id : 5038906621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose you are the academic head of your institution and you generally manage the subject combinations of the Senior Secondary students. As
per NEP2020, which of the following subject combinations a student can avail in Senior Secondary?

Options :

1. % One must opt for all the Science subjects

2. % One must opt for all the Arts subjects

3. % One must opt for all the Commerce subjects

4. ¥ One may have the freedom to opt for any subject combination

Question Number : 281 Question Id : 5038906621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 282 Question Id : 5038906622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perennial philosophy also referred to as perennialism and perennial wisdom, is a perspective in philosophy and spirituality that views all of
the world's religious traditions as sharing a single, metaphysical truth or origin from which all esoteric and exoteric knowledge and doctrine has
grown.

The concept of perennialism in education means school curricula should focus on what is:

Options :

1. ¢ everlasting
2. % important
3. % in demand
4. % inneed

Question Number : 282 Question Id : 5038906622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. ¢ TeR=TL

2. % Hgaquf

3. % g d

4, % SRXq H

Question Number : 283 Question Id : 5038906623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As Teacher of Political Science which are the things that you will do first just after entering the class? (The situation is that you have the previous
information that the class is too much disturbing and noisy.)
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Options :

2. % Just Avoid the situation
3. # Send of the students out of the class
4. ¥ Give everybody something to write

Question Number : 283 Question Id : 5038906623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 284 Question Id : 5038906624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As Teacher at upper primary level if you noticed that any student is less attentive in the class what method will you implement?
Options :

1. # Punishment

2. % Make him aside

3. ¥ Giving him much attention

4. ® Simply avoid him

Question Number : 284 Question Id : 5038906624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1 % &g

2. % JY Th R 131
3. ¢ IUP! WP dgd & ol

4. % g ITI T

Question Number : 285 Question Id : 5038906625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As Teacher of Political Science which one of the following teaching learning methods should be more helpful for you to teach the topic Power
Sharing?

Options :

1. ¥ Mock Parliament Formation

2. % Story Telling

3. # Singing

4. ® Dancing

Question Number : 285 Question Id : 5038906625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % T
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Question Number : 286 Question Id : 5038906626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to , children should experience practical implementation in school to make them better citizens.
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Options :

1. # Jean Piaget

2. ¥ John Dewey
3. ¥ David Brin
4. % Tsabel Allende

Question Number : 286 Question Id : 5038906626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S ot
2.+ S gdl

3. % Sfds formt
4. % TN 3l

Question Number : 287 Question Id : 5038906627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a child has mental age of 10 years and chronological age of 9 years than what will be the IQ of child?
Options :

1. % 132

2. % 85

3.¥ 111

4. % 120

Question Number : 287 Question Id : 5038906627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 5038906628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In almost all the educational institutions who are nurturing the little ones have adopted the concept of mother teacher. Being a teacher you should
have the belief that education comes from the experience of the:

Options :

1. ¢ Child

2. % Teacher

3. # Society

4. % Principal

Question Number : 288 Question Id : 5038906628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 9=

2. % e

3. ® gHANS

4. % QYR

Question Number : 289 Question Id : 5038906629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It’s an universal belief that to become a successful teacher one must achieve the status of a successful learner. Similarly the idea of teaching the
child in the “philosophy of pragmatism in education” means teaching the students to be good:
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Options :
L. # Scientists

2. % Thinkers
3. # Learners
4. ¥ (Citizens

Question Number : 289 Question Id : 5038906629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9D

2. % {qIR®

3. % fRremeff

4. ¢ MRS

Question Number : 290 Question Id : 5038906630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A modern educational institution stands on three pillars-Student, Teacher and Parent. Keeping this concept in mind the curriculum designers are
working for framing out a perfect and scientific curriculum. What, according to you, should the curriculum of educational institutes be based on:

Options :

1. ® theory

2. ® practice

3. # theory, practice and research

4. ¢ theory and practice

Question Number : 290 Question Id : 5038906630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Rygid

2. % YUY

3. % R4gia, snamT iR U™
4. ¢ RIgid 3R @8R

Question Number : 291 Question Id : 5038906631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Humans are the best creation of the Almighty. Everyone is born with some particular kinds of ability. Perfection comes only after various
applications. The more often a particular ability is used the it becomes.

Options :

1. ¥ Stronger

2. ¥ Weaker

3. # More important

4. ® Less important

Question Number : 291 Question Id : 5038906631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS AR &1 AN T 8 | TR Pls [l 7 fheft R o ermrar & r Uar gian & | gofar fafder Srui & a1e 8t aireht 81 g
3w IR fHdt faRi e &1 IuanT fosan SiTdT § 98 CERSIGIR

Options :

1. ¢ ASdd

2. % HHGIR

3. % 3@ Hgayul
4. % HH AgAYUl

Question Number : 292 Question Id : 5038906632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A Teacher is best known as “Friend, Philgsopher and Guide”. As well he proves to be one of the greatest motivator. Which among the following
is not a factor of motivation?

Options :

1. ® Incentive
2. ¥ Practice
3. # Praise

4. ® Prize

Question Number : 292 Question Id : 5038906632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % JrTg
2. ¥
3. % fd
4. ® RIDR

Question Number : 293 Question Id : 5038906633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As human life undergoes varies stages, similarly, children life also come under various stages. What is the stage from 2 to 6 years generally
called?

Options :

1. #® Pre-adolescence
2. % Infancy

3. # Late childhood
4. ¥ Pre-childhood

Question Number : 293 Question Id : 5038906633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g4 fpRIRma=A
2. % QAT

3. % fdcid STegTaRyT
4. ¥ 4 STTaRAT

Question Number : 294 Question Id : 5038906634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a Teacher of Political Science what, according to you, a teacher should study pupils’ group behaviour mainly by
method.

Options :

1. #® Case history
2. % Experimentation
3. % Observation

4. % Interview

Question Number : 294 Question Id : 5038906634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % oHfod g
2. % TNT
3. ¢ 3facliep
4. % HI&ThR

Question Number : 295 Question Id : 5038906635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
As a teacher as well as a mentor you are dupposed to be the best judge of the child’s emotion. According to you which one of the following does

not indicate child’s emotion?
Options :

1. ® Curiosity

2. ¥ Tolerance

3. ® Pleasure

4. % Sorrow

Question Number : 295 Question Id : 5038906635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % forsman

2. ¢ ggIRiiedn

3. % SR

4. % QD

Question Number : 296 Question Id : 5038906636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher always acts as a developer of child’s intellectuality through various activities. According to you which one is not an element of
intellectual development?

Options :

1. #® Imagination
2. ® Thinking

3. ¥ Tolerance

4. ® Creativity

Question Number : 296 Question Id : 5038906636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % P

2. % 99

3. ¥ Qg

4, ® JgATHD

Question Number : 297 Question Id : 5038906637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Earlier one of the renowned Board of Education in India had implemented Formative Assessment System of which CCE is one of the most vital
parts. Which one of the following is measured by Continuous Comprehensive Evaluation?

Options :

1. # Development of divergent thinking
2. # Development of creativity

3. ¥ Holisitic development

4. % Development of experience

Question Number : 297 Question Id : 5038906637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 298 Question Id : 5038906638 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a modern day teacher, advanced Teaching-Learning Materials are the mostly used tools. This includes manual as well as digital supports. As
teacher of Political Science which of the following is a dimensional teaching aid?

Options :

1. # Still Picture
2. ¥ Model

3. # Black Board
4. ® Display Board

Question Number : 298 Question Id : 5038906638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RR

2. T

3. % YYMUS

4. % ygxiUg

Question Number : 299 Question Id : 5038906639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A posteriori comes from Latin and literally translates as “from the latter” or “from the one behind.”It’s often applied to things involving inductive
reasoning, which uses specific instances to arrive at a general principle or law (from effect to cause). A posteriori knowledge is knowledge that is
known by:

Options :
1. ¥ Analysis
2. ® Evidence

3. ¥ Information
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4. ¥ Experience

Question Number : 299 Question Id : 5038906639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fgeiyor
2. % ied

3. % {d-I
4. % 3JHq

Question Number : 300 Question Id : 5038906640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the recent years almost all the renowned Indian Boards for school education have given enough upon the proper implementation on Games and
Physical Education in school curriculum. But it had been thought long before by one of the greatest Philosophers in the world. The philosopher
who for the first time mentioned the importance of play (or sports) in education was:

Options :

1. #® Aristotle
2. % John Locke
3. # Socrates

4. ¥ Plato

Question Number : 300 Question Id : 5038906640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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